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VARC%FD
Instructions Q‘:\\;\ .
A4
The passage below is accompanied by a set of questions. Choose the-best answer to each question.

Mode of transportation affects the travel experience a d\\thus can produce new types of travel writing and perhaps even new “identities.”
Modes of transportation determine the type nd duratl of social encounters; affect the organization and passage of space and time; .

. and also affect perception and knowledge— d *t_r?j/;é{er comes to know and write about. The completion of the first U.S.
transcontinental highway during the 1920s . forwgcna};ﬁef mEGéurated a new genre of travel literature about the United States—
the automotive or road narrative. Such narratives hlghlldh‘Nh xperiences of mostly male protagonists “discovering themselves” on their
journeys, emphasizing the independence of rggd travel and the value of rural folk traditions.

Travel writing's relationship to empire buil i g— as a type of “colonialist discourse”—has drawn the most attention from academicians.
Close connections have been observed between Europe (and American) political, economic, and administrative goals for the colonies
and their manifestations in the cultural pr \%:)f wrltl raveI books. Travel writers’ descriptions of foreign places have been analyzed
as attempts to validate, promote, or challen e_l_deo gies and practices of colonial or imperial domination and expansion. Mary Louise
Pratt’s study of the genres and conventions of 18th-and 19th- -century exploration narratives about South America and Africa (e.g., the

“monarch of all | survey” trope) offered ways of thinking about travel writing as embedded within relations of power between metropole
and periphery, as did Edward Sai Tﬁ“emjes of representation and cultural imperialism. Particularly Said’s book, Orientalism, helped
scholars understand ways in v(;(ch re(prr““se\n‘tatons of people in travel texts were intimately bound up with notions of self, in this case,
that the Occident defined itself throdgh esj tféllst ethnocentric, and racist representations of the Orient. Said’s work became a model
for demonstrating cultural forms ofl{k peri, ism in travel texts, showing how the political, economic, or administrative fact of dominance
relies on legitimating di{s;:ourses such-as those articulated through travel writing. . . .

Feminist geographers’ '@f,_udies of travel writing challenge the masculinist history of geography by questioning who and what are relevant
subjects of geographi %fudy and, indeed, what counts as geographic knowledge itself. Such questions are worked through

ideological constructs tha o‘srt\men as explorers and women as travelers—or, conversely, men as travelers and women as tied to the
home. Studies of Victorian women’who were professional travel writers, tourists, wives of colonial administrators, and other (mostly) elite
women who vyrpie narratives about their experiences abroad during the 19th century have been particularly revealing. From a “liberal”
feminist per. 'p'éctive travel presented one means toward female liberation for middle- and upper-class Victorian women. Many studies
from the 19 ¢s onward deronstrated the ways in which women'’s gendered identities were negotiated differently “at home” than they
were away,\thereby showing women'’s self-development through travel. The more recent post structural turn in studies of Victorian
travel writing h T’o\ctrjed)attentlon on women'’s diverse and fragmented identities as they narrated their travel experiences, emphasizing
women's sense of themselves as women in new locations, but only as they worked through their ties to nation, class, whiteness, and
colonial and imperial power structures

Question 1

From the passage, we can infer that feminist scholars’ understanding of the exp }ré ces of Victorian women travellers is influenced by
all of the following EXCEPT scholars": /

PRI R
A awareness of gender issues in Victorian society ( (
/ \‘
B knowledge of class tensions in Victorian society ) .

C perspective that they bring to their research //\A /

A\
D awareness of the ways in which identity is formed \\.\jy/
Answer: B C\\
\‘\:\
Explanation: N

The aspects that guided/influenced the understanding of fe iio examined Victorian women's travelling experiences need
to be found out. We understand that the attempt made by femini /as to "challenge the masculinist history of geography by (1)
questioning who and what are relevant subjects of geographic study,-and (2) what counts as geographic knowledge itself."” And
considering the role of women in travel writing during tr], Victorian era enabled these scholars to inspect new perspectives and achieve
the aforementioned objectives {"... such questions are worked through ideological constructs that posit men as explorers and women as
travelers—or, conversely, men as travelers a men asltied to the home..."}{Option C]. The varied viewpoints offered by women during
this period originated from the difference in the gendere irgnt' ies, implicitly indicating that the presence of an inequality/ineuity in the
gender roles [Option A]. Additionally, studies concerning.t mner in which travel altered a woman's gendered identities were also

available; this further shaped the feminist scholars' unders ing of the travelling experiences of Victorian women [Option D]. It has not
been presented or implied that the knowledge})f 'class" tensions, as stated in Option B, was an imperative element that influenced
scholars' understanding. Hence, Option B i the correct answer.

\ J
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Question 2 S

.
o
.

/ .
American travel literature of Llfe 19??’3: N/
)

Q. J
A showed participatiofn)in local traditions.
|

LAY . B . .
B developed the male‘protagonists’ desire for independence
C presented travellers’ disco

Py

D celebraf/tﬁe freedom that travel gives.
\

ry;of their identity as different from others.

]

/I ]

\ /
s '\\_///
7

Answer:

Explanation:
We can zero-in on the answer based on the following excerpt: {.. . The completion of the first U.S. transcontinental highway during the
1920s . . . for example, inaugurated a new genre of travel literature about the United States—the automotive or road narrative. Such
narratives highlight the experiences of mostly male protagonists “discovering themselves” on their journeys, emphasizing the
independence of road travel and the value of rural folk traditions...}

Option A: talks about participation in local traditions which is not mentioned or i

Option B: is a distorted comment that does not align with the idea discussgd’. The author s;aleg\that road journeys enabled the male

-

protagonist's experience of "discovering themselves"; the phrase "desire for independence” would be incorrect in this regard.
( §

Option C: is not even remotely discussed/implied. \ 7
4 ——
Option D: It is mentioned that the inauguration of a transcontinental high urin 920s paved the way for a new genre that

emphasised the freedom attached to such road travelling enterpriseS/. Hence, it i epicted travel as an experience celebrating an

licit
individual's independence {...emphasizing the independence...}. :_//\\ ’}
Hence, of the given options, Option D aptly captures the characteristics of Arﬁéri\casr_ ravel literature of the 1920s.

Question 3 &

~

From the passage, it can be inferred that scholars argue that Victorian"wgmgl
\\

experienced self-development through their travels because:\“ 7
(h\“:::\\_ ))

A they developed a feminist perspective of the world. \"“n_:/_/

B they were from the progressive middle- and upper- g ses of society.

C they were on a quest to discover their divggﬁ\(gﬁillis;;_ﬁ

I

-~

D their identity was redefined when they were away fronﬁ#\s\c\r@

Answer: D ,"/?

{
Explanation: \ /]
The question requires us to probe the reas n\b@\hind’\ytz the scholars argue that Victorian women experienced self-development through
their travels. Let us pay heed to the following segment from the passage: {...Many studies from the 1970s onward demonstrated the
ways in which women'’s gendered identities were negotiated differently “at home” than they were “away,” thereby showing women'’s self-
development through travel...}. Itis highlighted that travelling {being "away"} enabled women's identities to be " negotiated differently'
{highlighting transformation/r m@;m\i\bnwmch in turn was the cause of their self-development. Option D is closest to this
understanding. Options A, B a[nﬁj o f?if’to pr\jjeﬁt the reason and are invalid statements/inferences.
Question 4 \ l\\_// /
According to the pass?ﬁ;e, Said’s book, “Orientalism”:

A argued that cultummh{n was more significant than colonial domination.
y

B explained @ difference between the representation of people and the actual fact
P
b/
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c iIIustrateFrd' how narrow minded and racist westerners were
\ / }

\ N /
D demonsthal imperialism was used to justify colonial domination.

Answer: D

Explanation:

A direct inference from the excerpt: {...Said’s work became a model for demonstrating cultural forms of imperialism in travel texts,
showing how the political, economic, or administrative fact of dominance relies ori legitimating discourses such as those articulated
through travel writing. . .}. It is stated that Said's work rendered scholars with ah und rstanding of "cultural imperialism" and the manner
in which it was used to justify colonial domination {or similar pursuits they(%}’ﬁ()pti n B ptures this aspect. Options A, Band C

either diverge from the discussion or are distorted comments. f / \)

Take 3 Free CAT Mock %\f/ons)
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Question 5 //\
From the passage, we can infer that travel writing is most similar to: \\ \)\_/
A political journalism C\\‘\
\\ \*B
B feminist writing . \)
C autobiographical writing. \-\://
D historical fiction. \\
Answer: C Q \\#__,,/7
] =
Q \
Explanation: ~

Since travel writing involves the presentation and recountin&ersonal travel experiences and/or perspective of the world, the closest
category to this would be autobiographical w/i}ing [Option C]. Political journalism and feminist writing can be hurled out the window.
Associating travel literature to historical fl(t’plon would be inappropriate as well. Hence, of the given choices, Option C is the correct
answer.

Instructions \\ _/'//

i

=

The passage below is accompanied by a set of questlons Choose the best answer to each question.

Although one of the most conte éH?:‘oncepts in political philosophy, human nature is something on which most people seem to agree.
By and large, according to Rut é/Bregpﬁa\ﬁ in.his new book Humankind, we have a rather pessimistic view - not of ourselves exactly,
but of everyone else. We see bfher q/ebple a ‘sélflsh untrustworthy and dangerous and therefore we behave towards them with
defensiveness and suspicion. This \lv&s hoxﬂhe 17th-century philosopher Thomas Hobbes conceived our natural state to be, believing
that all that stood between us and v:bleif,ar{archy was a strong state and firm leadership. But in following Hobbes, argues Bregman, we
ensure that the negatw@new we have of human nature is reflected back at us. He instead puts his faith in Jean-Jacques Rousseau, the
18th-century French Ehlhker who famously declared that man was born free and it was civilisation - with its coercive powers, social
classes and restnctw@faw\s that put him in chains.

Hobbes and Rousseau are seeﬁasfthe two poles of the human nature argument and it's no surprise that Bregman strongly sides with the
Frenchman. ﬂe’}akes Rousseau’s intuition and paints a picture of a prelapsarian idyll in which, for the better part of 300,000 years,

Homo sapiens'lived a fulfilling life in harmony with nature . . . Then we discovered agriculture and for the next 10,000 years it was all
property, w fgreed and inj stlce

It was aban mng our nﬂﬁﬂadlc lifestyle and then domesticating animals, says Bregman, that brought about infectious diseases such as
measles, smallpox,: ,tuberculosis, syphilis, malaria, cholera and plague. This may be true, but what Bregman never really seems to get to
grips with is that pathogens were not the only things that grew with agriculture - so did the number of humans. It's one thing to maintain
friendly relations and a property-less mode of living when you’re 30 or 40 hunter-gatherers following the food. But life becomes a great
deal more complex and knowledge far more extensive when there are settlements of many thousands. “Civilisation has become
synonymous with peace and progress and wilderness with war and decline,” writes Bregman. “In reality, for most of human existence, it
was the other way around.” Whereas traditional history depicts the collapse of ciyﬂfé ions as “dark ages” in which everything gets worse,
modern scholars, he claims, see them more as a reprieve, in which the enslav "gai their freedom and culture flourishes. Like much else
in this book, the truth is probably somewhere between the two stated pos¢ ns. - ”L

calls “veneer theory” - the idea that just below the surface, our bestial n tu SW tln 6\rea . There's a great deal of

In any case, the fear of civilisational collapse, Bregman believes, is unfo Lt's he r sult of Eat the Dutch biologist Frans de Waal
efi
reassuring human decency to be taken from this bold and thought-| pI’O)VOk ))OOk an ?/‘wea}tﬁ of evidence in support of the contention
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Question 6

that the sense of who we are as a species has been deleteriously disybrte@ut it'seems equally misleading to offer the false choice of
Rousseau and Hobbes when, clearly, humanity encompasses both. !_//\\ i >

& 5=
None of the following views is expressed in the passage EXCEPT t&at: \

\\\:_\\

A most people agree with Hobbes’ pessimistic view of human nature as b Jntrinsically untrustworthy and selfish.

B Hobbes and Rousseau disagreed on the fundamental nature\bf\h\ t both believed in the need for a strong state.

D the author of the review believes in the vé%e heorb\ f hu
=
Answer: A \\
Explanation:
We need to find a viewpoint that is presentéd in the passage. Let us inspect the individual options:

Option A: The introductory lines of the pa sgge helps us infer this: {... Although one of the most contested concepts in political
philosophy, human nature is something o Wt@;%éop/e seem to agree. By and large, according to Rutger Bregman in his new book
Humankind, we have a rather pessimistic view.-not of ourselves exactly, but of everyone else. We see other people as selfish,
untrustworthy and dangerous and therefore we behave towards them with defensiveness and suspicion...}

Option B: The author calls the ?EW Hobbes and Rousseau as polar opposites {" Hobbes and Rousseau are seen as the two poles
of the human nature argument} and dp'ésqutgresent a similarity, especially any comment of the form: " both believed in the need for a
strong state." Thus, we can elhﬁinatéﬁhis oq .
([ .

Option C: No such view has been pre\s\tiiyd’
Option D: The author's ﬁBinion of Frans de Waal's “veneer theory” is not evident/not highlighted. Hence, we can eliminate this option.

Y\
Thus, of the given stw Option A is the correct answer.
Question 7 <

According to /t}r/é passage, the “collapse of civilisations” is viewed by Bregman as:
&Y

. no_ . -
A atimet a(\_enables changes in societies and cultures.

/
i n’lﬁ society’s trajectory.

a sign of reg

(¢}

resulting from a breakdown in the veneer of human nature.

D atemporary phase which can be rectified by social action. o

Answer: A /

Explanation: e // -

Bregman considers the aftermath of civilizational collapse as a period that allows for da@ ges or alterations in the

society {... ‘Civilisation has become synonymous with peace and progress and wi ‘derne it r and decline,” writes Bregman. “In
reality, for most of human existence, it was the other way around.” Whereas traditio /'s'Z‘bTﬁepicts the collapse of civilisations as
“dark ages” in which everything gets worse, modern scholars, he claims, see the a reprieve, in which the enslaved gain their
freedom and culture flourishes... }. Option A correctly captures this p,)nﬁ\ ti B, C and|D are either not stated or distorted
interpretations.

CAT previous papers (download pdf)
Question 8 A H\::)
According to the author, the main reason why Bregman contgg\s:(e\in pre ;gricultural societies with agricultural societies is to:
A advocate the promotion of less complex societies z{ a basis for greater security and prosperity

B highlight the enormous impact that settltg:fém% _on pepulation growth
\\"“1_ \ r_____.——-‘
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make the argument that an environmentally cons&bu‘é\}itgf,tyle is a more harmonious way of living.

'”*D

D bolster his argument that people are bas’/fc%lly decent, but progress as we know it can make them selfish.

c

Answer: D f’ -
\ /”
Explanation: \:\-—"/
Bregman disagrees with Hobbes' standpoint of humans being inherently selfish or bestial and instead takes Rousseau's side. He asserts
that civilizational progress causeg_gy\the post-agricultural setup is responsible for the negative/undesired circumstances. In this regard,
he presents the contrasting pic e‘oﬁ,ﬁi’eamd post-agricultural societies {attaches the image of "a prelapsarian idyll" to the nomadic
lifestyle, while considers the zcove f’a?‘ag?Tcylture as a misevent}. Thus, this depiction supplements "his argument that people are
basically decent, but progress-as we know i‘a %an make them selfish.” Option D is the appropriate answer.
N L
Option A: The aspect of complexity i‘sﬁo_tjhé primary focal point. Thus, this option can be eliminated.
Option B: This divergle.?om the discussion onto a new line of discussion: "impact that settled farming had on population growth".
Hence, we can discardthis choice as well.
.
Option C: Again, the focus Jib’t\on the environment; hence, we can scrap off this option.
9
Question9 o,
&7

Fiig

The author ?T differing views from Bregman regarding:
il
\ "\ /I.-"r

A therole ONW the advancement of knowledge.

B the role of pathogens in the spread of infectious diseases.

C a property-less mode of living being socially harmonious.

o

a civilised society being coercive and unjust.

Answer: D

Explanation:
3 ‘human decency to be taken from this bolc
and thought-provoking book and a wealth of evidence in support of the con [ e sense of who we are as a species has been
deleteriously distorted. But it seems equally misleading to offer the false choic Rousseau and Hobbes when, clearly, humanity
encompasses both...} Thus, he does not truly agree with Bregman's fithe civilized society. Option D correctly captures this
disagreement.

Instructions \)\

The passage below is accompanied by a set of questions. Choose%%st

answer to each question.

I've been following the economic crisis for more than two years now. | bega king on the subject as part of the background to a novel,
and soon realized that | had stumbled across the most interesting.story I've ever found. While | was beginning to work on it, the British
bank Northern Rock blew up, and it became clear that, as | wroth‘bib i “If our laws are not extended to control the new kinds of
super-powerful, super-complex, and potentially super risky investment vehicles, they will one day cause a financial disaster of global-
systemic proportions.” . . . | was both right and too Iate,\r ecause all the groundwork for the crisis had already been done—though the
sluggishness of the world’s governments, in not preparing for the great unraveling of autumn 2008, was then and still is stupefying. But
this is the first reason why | wrote this book: b

a particularly large amount about it in 2009, because it was the fiftieth anniversary of the speech during which C. P. Snow first used the
phrase. But I'm not sure the idea of a huge g? between science and the arts is as true as it was half a century ago—it’s certainly true, for
instance, that a general reader who wants 5.6 pick up an education in the fundamentals of science will find it easier than ever before. It
seems to me that there is a much bigger orld of finance and that of the general public and that there is a need to
narrow that gap, if the financial industry is of priesthood, administering to its own mysteries and feared and resented by
the rest of us. Many bright, literate people ha about all sorts of economic basics, of a type that financial insiders take as
elementary facts of how the world works. | am an outsider to finance and economics, and my hope is that | can talk across that gulf.

My need to understand is the sam rs, whoever you are. That's one of the strangest ironies of this story: after decades in which the
ideology of the Western world/was pdrSBneﬂMnd economically individualistic, we've suddenly been hit by a crisis which shows in
the starkest terms that whether we liKe it or lot—and there are large parts of it that you would have to be crazy to like—we're all in this

together. The aftermath of the crisi“s\g_o_}y to dominate the economics and politics of our societies for at least a decade to come
and perhaps longer. ~
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Question 10 i
o\
Which one of the foIW{ true, would be an accurate inference from the first
?
sentence of the passage? \_\::}
PN
£ /’
A The authbr s preoccupation with the economic crisis is not less than two years old.
|l |
B The autﬁoms preocc/upléd with the economic crisis because he is being followed.

e

et

G
C The economic crisis outlasted the author’s preoccupation with it.

D The author has witnessed many economic crises by travelling a lot for two years

Answer: A

Explanation: /
This is a direct inference question that requires minimal effort and can be z/curate answereﬁgusmg the option- ellmlnatlon mechanism.
The first sentence of the passage is as follows: " .../'ve been following the economic crisis for e than two years now. ..". It is evident
that the author has been following {events/informatlon associated with} th con mic \c@sn's“ :D(i least two years if not more. Thus,
Option A is a sensible inference to draw from this statement. Options B, C and D' are inanelintérpretations of the same and can be

effortlessly eliminated. &

/ _.-—’

AL (

. o
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Question 11 (‘\ \,
Which one of the following best captures the main argument of the Iast parqgr\aph of
the passage? 7
Qx ))

v
The aftermath of the crisis will strengthen the central |deolog dividualism in the
Western world

B Whoever you are, you would be crazy to fﬁ:n that t k}f is no crisi

C Inthe decades to come, other ideologies will eme?gq‘\h\:{fgaftermath of the crisis.

\\-‘.
D The ideology of individualism must be set-aside in order to deal with the crisis.
Answer: D ://
.I\ f?

Explanation:
In the final paragraph, the author highlights t \ecLls,aén ironical situation: a group of individualistic entities facing an issue with
collective impact and thereby, needs to be dealt with "together" or by shifting from the existing self-centred setup {"... That’s one of the
strangest ironies of this story: af ades in which the ideology of the Western world was personally and economically individualistic,
we've suddenly been hit by a cfisis wi /;.‘E;shows in the starkest terms that whether we like it or not—and there are large parts of it that you
would have to be crazy to //ka—rwer all in Iigsjogetheﬁ..."} Option D is the closest choice that captures this element. Option A is contrary
to the point presented in the concluglng par, } Options B and C are either divergent to the point made or merely distorted comments.
Hence, Option D is the correct answé[;;j/
Question 12 .’f?
According to the pa sag é;ﬁt\he author is likely to be supportive of which one of the
following programmes? t‘:\

l"/‘\_
Economiéz,pfcglicies that are more sensitively calibrated to the fluctuations of the
market. | ( .

\

B An educg}i@uﬁm that promotes economic research
€ An educational curriculum that promotes developing financial literacy in the masses.
D The complete nationalisation of all financial institutions

Answer: C /7
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the world. This is emphasised via the following excerpt: F

f the general public and that there is a need to
fts-own mysteries and feared and resented by
, of a type that financial insiders take as

)y hope is that | can talk across that gulf....}

Explanation
A predominant idea discussed by the author is regarding the lack of financi I|ter7/that C be truly beneficial to our understanding of

{...It seems to me that there isa much b/gger gap between the Wor/d ofifinance and tha

Option C aligns with this concern and is, consequently, an idea that the author.is support. Option B appears as another likely
candidate; however, economic research is not one of the focal points mentioned. Options A and D contain elements that are not
discussed or are opposite to the author's ideas. Hence, Option C |swzmme that the author is most likely to be supportive of.

Question 13

All of the following, if true, could be seen as supporting the @\ents |@assage EXCEPT:

A The failure of economic systems does not necessarily mean the fallure of their ideologies.
/

B The difficulty with understanding fmanm@atters |§ hat they have become so arcane.

S ==
C The story of the economic crisis is also one thatlonal relations, global financial security, and mass psychology.

\\.
D Economic crises could be averted by changlng prevalllnﬁlogies and beliefs.

Answer: A /

f 7
Explanation: \

Let us inspect the individual options: -/'

Option A: If true, this statement could be antlthetlcal to the point put forth in the concluding paragraph: the author believes that an
individualistic ideology isn't the gfrt-wa\x forward; instead, we need to deal with such crises collectively. Thus, this is a conflicting
viewpoint and thereby, the corpét an;z

Option B: If true, aligns with tﬂef autH:)rs pmﬂ in the first paragraph: {.. ./t seems to me that there is a much bigger gap between the world
of finance and that of the general public and'that there is a need to narrow that gap, if the financial industry is not to be a kind of
priesthood, administerifg to its own mysteries and feared and resented by the rest of us...}
Options C and D: If trgg l'this is in tune with the author's claim {made in the final segment} about dealing with such crises together.
il \
Hence, of the given stﬁen@ﬂtg, Options A deviates from the author's argument and thus, is the correct answer.
S
¥
/7 Free CAT Exam Preparation App

,-

Question 1/ L }' 7]

Which one o efollowﬁd if false, could be seen as supporting the author’s claims?

A The huge gap between science and the arts has steadily narrowed over time.

B The economic crisis was not a failure of collective action to rectify economic problems

C Most people are yet to gain any real understanding of the workings of the financial world.

D The global economic crisis lasted for more than two years. '\
e /

Answer: B /
Explanation:
On skimming through the statements, it is evident that Options A anq/ very ﬁ atjall anything, to support the author's

claim. Option C, in its current form, aligns with the author's assertlon is opposite to the author's argument about
financial literacy {on negating the statement, it indicates that most people do h ve nderstanding of the workings of the financial
world}. Option B, if false, is in line with the assertions made in the concluding pa raph

~

Instructions S
\\

~
The passage below is accompanied by a set of questions. Choose the best‘ﬂ er to each question.
O
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[There is] a curious new reality: Human contact is becoming a Tﬂxu\gy\g@E}/ more screens appear in the lives of the poor, screens are
disappearing from the lives of the rich. The richer you are, the more? d to be off-screen. . . .

The joy — at least at first — of the internet revolution wa@\its democratic nature. Facebook is the same Facebook whether you are rich or
poor. Gmail is the same Gmail. And it’s all frege..There isﬁ mething mass market and unappealing about that. And as studies show that
time on these advertisement-support pIatfor%’ ealthy:itall'starts to seem déclassé, like drinking soda or smoking cigarettes, which
wealthy people do less than poor people. The wealt afford to opt out of having their data and their attention sold as a product.

The poor and middle class dont have the same kind of re s to make that happen.

Screen exposure starts young. And children who spent more than two hours a day looking at a screen got lower scores on thinking and
language tests, according to early results /a landmark study on brain development of more than 11,000 children that the National
Institutes of Health is supporting. Most di t{erineg, the qt-)udy is finding that the brains of children who spend a lot of time on screens are
different. For some kids, there is prematu inning?ir cerebral cortex. In adults, one study found an association between screen

time and depression. . . .

Tech companies worked hard to get public schools to buy into programs that required schools to have one laptop per student, arguing
that it would better prepare child en-fe%he;r screen-based future. But this idea isn't how the people who actually build the screen-based
future raise their own children/(v(ﬁ@}n\ lley, time on screens is increasingly seen as unhealthy. Here, the popular elementary school is
the local Waldorf School, whi@'_l]f promises a -to-nature, nearly screen-free education. So as wealthy kids are growing up with less
screen time, poor kids are growing q:e\with/ re. How comfortable someone is with human engagement could become a new class
marker.

Human contact is, of c@rse, not exactly like organic food . . . . But with screen time, there has been a concerted effort on the part of
Silicon Valley behe : to confuse the public. The poor and the middle class are told that screens are good and important for them and
their children. There are é\so\fzsychologists and neuroscientists on staff at big tech companies working to hook eyes and minds to
the screen as fast as possibl an\:,.for as long as possible. And so human contact is rare. . . .

Thereis a smalﬁfnovement to pass a “right to disconnect” bill, which would allow workers to turn their phones off, but for now, a worker
can be puni d for going offline and not being available. There is also the reality that in our culture of increasing isolation, in which so
many of theltraditional gat)ﬁé‘ring places and social structures have disappeared, screens are filling a crucial void.
Question 15 \'\v/”f

4

Which of the following statements about the negative effects of screen time is the author least likely to endorse?

A Itis shown to have adverse effects on young children’s learning
B Itincreases human contact as it fills an isolation void. /

C It can cause depression in viewers. A

D Itis designed to be addictive. /
Answer: B
/ /
ni:

Explanation: g//\ S
Option A: This author will agree with this assertion. It has been mentioned in-t €
of their cerebral cortex...}. \ :

:{.. . For some kids, there is premature thinning

Option B: Reduction in human contact or social engagement is one@:f'the\negative impacts of screen time that the author highlights in the
passage. Option B is antithetical to this presentation and is, hence, not"&clamihat the author is likely to endorse.

™

Option C: The author states this element in the third para: {.. .é@_adu/ts, ones a'}/ found an association between screen time and
depression...} “x:::\xh )

Option D: A point along similar lines has been presentediin the fifth para: {.. . There are fleets of psychologists and neuroscientists on stafi
at big tech companies working to hook eyes and minds\to the screen as fast as possible and for as long as possible. And so human
contact is rare...} i’::‘».

Hence, Option B is the correct answer. N

Question 16
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“How comfortable someone is.wiLh human engagement could become a new class marker.”

B =
/ / /
Cc . screens are filling a cbfmal y/q/d " )j"?
W\
D . studies show that time on tﬁ‘es_/d»v/ertlsement -support platforms is unhealthy .
Answer: B l/?

X\
%
\'\-.
Explanation: ‘\\

At the very begmmng, the author-highlights the disparity in the screen time with regard to the wealthy and the common masses: {.. .As
more screens;.appear in the lives of the poor, screens are disappearing from the lives of the rich. The richer you are, the more you spend
to be off-scréen...}. The statement in Option B supplements this assertion by further highlighting this observed difference in activity
between th I{ICh and the C})mmon {...As more screens appear in the lives of the poor, screens are disappearing from the lives of the rich.
The richer yourare, the more you spend to be off-screen...}. None of the other options can be attached to the given statements. Hence,
Option B is the }rreet/ower.

CAT Formulas PDF [Download Now]

Question 17

Answer: D

Explanation:
The following excerpt from the fourth paragraph throws light into this matter:{..". Tech companies worked hard to get public schools to
buy into programs that required schools to have one laptop pMarg ing that it would better prepare children for their screen-
based future. But this idea isn’t how the people who actually build t

that though tech companies manipulate public schools into engaging in a process involving more screen time, they avoid a similar course
of activity when it comes to their own children {whom they subject to a screen-free education and upbringing}. Option D aptly captures

this two-facedness. Option B is a distorted iw hile Options A and C cannot be inferred from the passage.
Hence, Option D is the correct answer. u

Question 18 \

The author is least likely to agree with the vi@r that the increase in screen-time is fuelled by the fact that:

screens provide social contact in an |r&@ngly |s9( ing world

there is a growth in computer-based teachingin public schools

-based future raise their own children...}. It is understood

>

C some workers face punltlvgaMey are not online

\

D with falling costs, people éfe stré:gfmlng re content on their devices
-
Answer: D ‘\_\:/J
(7
Explanation: L

Option A: The author s\au:eady discussed a point along similar lines towards the end of the passage: {. .. There is also the reality that in
our culture of increasing is Efa@jn which so many of the traditional gathering places and social structures have disappeared, screens
are filling a crucia/ void...}. Hen\e~fhe author definitely considers this as one of the causes behind the increase in screen time.

Option B: The' |scu33|on in passage 4 and 5 highlights how the tech companies have {perhaps successfully} convinced schools to
integrate a screen-based eZL;Jcatlonal culture to prepare students for a "screen-based future". Thus, this is another factor that the author
attributes toithe rise in scr, p'n time.

O\ \"\,_ /;’j
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Option C: This\asp_é_étjaslbeen discussed towards the end of the passage: {... There is a small movement to pass a ‘right to disconnect”
bill, which would allow workers to turn their phones off, but for now, a worker can be punished for going offline and not being available...}.
Hence, the author considers this as another factor contributing to the increase in screen time.

Option D: There is no discussion mentioning or detailing the elements presented in D. Thus we cannot conclusively comment on whether
the author is likely to agree with this point. £

Hence, Option D is the correct answer.

y
Instructions //
For the following questions answer them individually / -

/
Question 19 ’i / :

The four sentences (labelled 1, 2, 3, 4) below, when properly sequensfed éuld );relﬂ_a herent paragraph Decide on the

proper sequencing of the order of the sentences and key in the seqq’eng of thp /(our numbers as your answer:

1. Complex computational elements of the CNS are organized accoi‘dlng tp "hé@ted")al rarchic criterion; the organization is not
permanent and can change dynamically from moment to moment as they ca n: mputational task.

2. Echolocation in bats exemplifies adaptation produced by natural selection; a\function not produced by natural selection for its
current use is exaptation -- feathers might have originally arisen in’ the context of selection for insulation.

3. From a structural standpoint, consistent with exaptation, the Ilvmg organkm is organized as a complex of “Russian Matryoshka
Dolls” -- smaller structures are contained within larger ones in multiple Iay rs. 7
4. The exaptation concept, and the Russian-doll organization Ctmcept of Ilva)'u beings deduced from studies on evolution of the various
apparatuses in mammals, can be applied for the most complex human o_ga;r the central nervous system (CNS).

Answer:2431 \{‘\

Explanation: = \ N

~ —
Statement (2) introduces us to certain evolutionary mﬂueﬂ&es in the bodily mechanisms of animals, especially mammals (bats).
Statement (4) continues on the observed influence on the Vaﬁ’b s apparatuses in mammals, specifically in the case of the most complex
human organ: the central nervous system (CNS) The author mentions that the example of exaptation and Russian dolls serve to assist in
our understanding of this complex organ CNS ). The significance of the Russian dolls is elaborated in Statement (3), specifically with
regard to its structural implications: " smaller structures are contained within larger ones in multiple layers"—this portryas the presence of
some structural hierarchy that can be obil\ved in such plex apparatuses. Statement (1) highlights how the complex elements in the
CNS are organised in a “nested hierarchic ‘c\r\}euon“ th reby, serving as a continuation to (3). Therefore, (2)-(4)-(3)-(1) forms a coherent
paragraph. —

,/fl” p—Sp(LFree CAT Questions (With Solutions)
) g 4 W

Question 20 (L | ] J
The four sentences (labelled 1, 2, 3 ‘4)\bé[aw when properly sequenced would yield a coherent paragraph. Decide on the proper
sequencing of the order of the sentences and key in the sequence of the four numbers as your answer:
1. It advocated a con,s\ervatlve approach to antitrust enforcement that espouses faith in efficient markets and voiced suspicion
regarding the ments%f\jydlclal intervention to correct anticompetitive practices.
2. Many industries have c(ﬁrﬂstently gained market share, the lion’s share - without any official concern; the most successful
technology con)panles have gr\c?\h'n into veritable titans, on the premise that they advance ‘public interest'.
3. That the neWantlcompetltlve risks posed by tech giants like Google, Facebook, and Amazon, necessitate new legal solutions could
be attrlbuted to the dearth of enforcement actions against monopolies and the few cases challenging mergers in the USA.
4. The crite lé)n of consun;lér welfare standard’ and the principle that antitrust law should serve consumer interests and that it should
protect com| etwbér ‘than individual competitors was an antitrust law introduced by, and named after, the 'Chicago school'.

Answer:4123

Explanation:
Statement (4) opens the discussion by mentioning an "antitrust law" and a few essential features attached to it. Statement (1) further
describes this provision {".../t advocated..." }: the move to support an efficient market/and curb anti-competitive practises. Statement (2)
then elaborates on the latter point of anticompetitive practices and subsequently, highlights the relevance of this provision. Statement (3)
further emphasises the necessity of "new legal solutions" to deal with th/eelement dis;;ugge:&garlier {in (2) and (3)}. Hence, (4)-(1)-(2)-
(3) forms a logical arrangement. / r [ )
[
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Question 21 =

Five jumbled up sentences, related to a topic, are given below. Four of them canbe put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your an er

1. Machine learning models are prone to learning human-like biases from thetralnlng data that feeds these algorithms.

2. Hate speech detection is part of the on-going effort agalnst oppressive a Qbuswe language on social media.

3. The current automatic detection models miss out on som mg\wtal co

4. It uses complex algorithms to flag racist or violent speech fast rand er than human beings alone.

5. For instance, algorithms struggle to determine if group identifiers like " gay or "black” are used in offensive or prejudiced ways
because they're trained on imbalanced datasets with upklsually high rates of hate speech.

Answer:3 \‘\\ \\ - =5
—~ “r\
= - \
Explanation: ~

On reading the statements, the arrangement(2)-(4)-(1)-(5) can be linked to form a paragraph, while Statement (3) stands out. Statements
(2) and (4) talk about hate speech detection/and the algorithms involved, while Statements (1) and (5) indicate the issue associated with
the aforementioned algorithms. Hence, (3) is the odd one-out.
Question 22 \\ B // 4
Five jumbled up sentences, related to a topic,éi're gl”ven below. Four of them can be put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your answer:
1. The logic of displaying one f/innerxqualltles through outward appearance was based on a distinction between being a woman and
belng feminine. / O
2. 'Appearance’ became a S|ghif|er ¢/f’ conduct - to look was to be and conformity to the feminine ideal was measured by how well
women could use the tools of the f&éhlon alii beauty industries.
3. The makeover-centric media sets ouisdbtly and not-so-subtly, ‘good’ and ‘bad’ ways to be a woman, layering these over inequalities
of race and class. | .)
4. The denigration ot:m)orklng class women and women of colour often centres on their perceived failure to embody feminine beauty.
5. 'Woman’ was consﬁ’ered a blologlcal category, but femininity was a ‘process’ by which women became specific kinds of women.
"x\ 7
Answer:3 yo,
,"‘_;
Explanation; | n
Statement (i alks aboupﬁbw the "logic" of determining a woman's inner quality boiled down to the distinction between the perception
of "being a wo an and’pelng feminine". Statement (5) highlights the difference in this understanding: the former being a 'biological
category' and Iatter belng a 'process'. Statement (2) continues on the manner in which the measure of "feminine ideal" was dependent on
a woman's appearance. Statement (4) continues on this line by presenting how the incapacity to meet up to this ideal led to the
denigration of working-class women and women of colour. We notice that Statement (3) is the odd one out here.

p
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uestion 23 —

Q =R,

The passage given below is followed by four alternate summaries. Chqbs e option/ t at bes} §aptures the essence of the passage.
The dominant hypotheses in modern science believe that language e\;olv toallow fyd 1ans to exchange factual information about the

physical world. But an alternative view is that language evolved, in m de h’um ast, to facilitate social bonding. It increased
our ancestors’ chances of survival by enabling them to hunt more sqcce sfullyfq{ to cooperate more extensively. Language meant that
things could be explained and that plans and past experiences coul¢be c& ffICIgv

Since its origin, language has been continuously evolving to highg{forms, from being used to identify objects to ensuring human
survival by enabling our ancestors to bond and cooperate. \\\

S,

—~—

From the belief that humans invented language to proces{&factual |nfor ﬂgn scholars now think that language was the outcome of
the need to ensure social cohesion and thus human survival. /
\\\\\_/’/

Most believe that language originated from a need to articulate facts but others think it emerged from the need to promote social
cohesion and cooperation, thus enabllng human sumval

Experts are challenging the narrow view of ﬂaqg’jé?as being merely used to describe facts and label objects, to being
necessary to promote more complex |nteract|on e@’humans

Answer: C
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Explanation: '
One predominant viewpoint: language orlgﬁlnated to exchéhge factual information

[/
An alternative viewpoint: language orlglnatéd\tcx@g/lua}e social bonding and consequently, to ensure human survival.
The summary needs to highlight these two core wewpomts. Option C does this without deviating from the discussion.

Option A: The evolution of lang FT\Smot the focal point here; the views held in this regard are. {"language has been continuously
evolving to higher forms"} Th fwe c,én“ellrmnate this option since it comes across as a misrepresentation.

'

Option B: This is a trap wherem the #qateme%} captures both the core viewpoints but there is a distortion involved: "...From the belief
" to"...scholars now..." indicates a s‘hu‘yn the viewpoint. However, this is not the case - the author simply states two prevalent
perspectives on the supject -

Option D: is again a d.lgg‘r_‘tlon since experts are not "challenging any views; the author simply highlights the presence of two viewpoints

{no conflict presente S
\\\

. . \\\
Hence, Option C is the correct answer.
Question 24 /'

!

The passagF |g|ven below i |s followed by four alternate summaries. Choose the option that best captures the essence of the passage.

Aesthetic po ilc\l reprgseﬁtatlon urges us to realize that ‘the representative has autonomy with regard to the people represented’ but
autonomy then'is not an’excuse to abandon one’s responsibility. Aesthetic autonomy requires cultivation of ‘disinterestedness’ on the
part of actors which is not indifference. To have disinterestedness, that is, to have comportment towards the beautiful that is devoid
of all ulterior references to use - requires a kind of aesthetic commitment; it is the liberation of ourselves for the release of what has
proper worth only in itself.

y’
p
Aesthetic political representation advocates autonomy for the representatﬁ/,e's manifested through disinterestedness which itself is

A

different from indifference.
B Aesthetic political representation advocates autonomy for the repre§en |ves/éraw|ﬁg from isinterestedness, which itself is

different from indifference. \\

/ /

c Disinterestedness is different from indifference as the former me?ns Aon Sj?}jectl evaluation of things which is what constitutes

aesthetic political representation / N )

L/ b B \ \ //f
D Disinterestedness, as distinct from indifference, is the basis of political reb‘r\?sﬂ’ﬂaﬂon
Answer: B O

Explanation: . >

The paragraph discusses two essential elements: it begins by presenting the)fjacet of autonomy enjoyed by the representative

in Aesthetic political representation and then highlights the cuItVatlonof "disinterestedness"” in this regard. Additionally, the author
distinctly identifies the aforementioned concept as being not the same-as that of "indifference". Post this, towards the end. The author
presents the reason behind this assertion. Option B correctly captures these two aspects without distorting the overall meaning.

Option A: The author does not claim that the(autonomy \nﬁamfested” through disinterestedness.

Option C: The statement here contains added eleme\‘rs\vskhgchcaﬂnot be inferred from the passage.

x

Option D: This alternative fails to capture the essence of the@scussmn and describes a single component. {'political representation’
might again be incorrect} X

~

A2
Hence, of the given summaries, Option B E}pﬁy captures the substance of the passage.
Question 25 (\ \ / ]

The passage given below is followed by fo\r&itematgis’ummaries. Choose the option that best captures the essence of the passage.

Brown et al. (2001) suggest that ‘metabolic theory may provide a conceptual foundation for much of ecology just as genetic theory
provides a foundation for much oFevqutlonary biology’. One of the successes of genetic theory is the diversity of theoretical
approaches and models that have beén\&\eveloped and applied. A Web of Science (v. 5.9. Thomson Reuters) search on genetic* +
theor* + evol* identifies more }'han 72000 DE) ications between 2005 and 2012. Considering only the 10 most-cited papers within this
12000 publication set, genetic theqry can be'seen to focus on genome dynamics, phylogenetic inference, game theory and the
regulation of gene expression. Thel’e\isnd ,dne fundamental genetic equation, but rather a wide array of genetic models, ranging from
simple to complex, wnl;ﬂilfferlng |nputs and outputs, and divergent areas of application, loosely connected to each other through

the shared conceptugl fQundatlon of heritable variation.

s\
\ M
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~
Genetic theory has evolvegittzlspawn a wide range of theoretical models and applications but Metabolic theory need not evolve in a
similar manper in the field of ecology

Genetic (t}eory has a W|,de range of theoretical approaches and application and is foundational to evolutionary biology and Metabolic
theory hge\,\the potentlja'l,‘to do the same for ecology

Genetic tWWlde range of theoretical approaches and applications and Metabolic theory must have the same in the field of
ecology

D Genetic theory provides an example of how a range of theoretical approaches and applications can make a theory successful.

Answer: B ‘//
/
Explanation:
There are two key points discussed in the passage:
1. The prospect of "metabolic theory" being foundational to the field of)é ZE y; the sam@\L case in (
ive

2. Genetic theory being the conceptual basis of evolutionary biology { dlfzse nd e extenswe theoretical approaches and models

available}.
Thus, the summary needs to capture both these points. Option B fulfﬂ/;ﬂsb\q& me

Option A: is a distorted claim since it is not implied in the passage; the author daes not assert that "metabolic theory need not evolve in a
similar manner". Q

Option C: is again a misinterpretation because the author does not cla\m%\\thf:%tabolic theory "must" contribute in a similar fashion.
Instead, the focus is on the "potential" of this theory. X

Option D: is divergent since the author does not discuss the "é%f at t/jory.

Hence, Option B is the correct answer.

WUAJ%PI‘G\CHCG Tests
Question 26 \

The four sentences (labelled 1, 2, 3, 4) below, when properly y sequenced would yield a coherent paragraph. Decide on the proper
sequencing of the order of the sentences an@key in the sequence of the four numbers as your answer:

1. Each one personified a different aspec gf good fortune.

2. The others were versions of popular Bl{(\dhlst gods, Hifdu gods and Daoist gods.

3. Seven popular Japanese deities, the Sh\c Fuku1|n re considered to bring good luck and happiness.

4. Although they were included in the Shlntom@m only two of them, Daikoku and Ebisu, were indigenous Japanese gods.

Answer:3142 -
N
K/_ /_f\\\ .
Explanation: o / / )j\“J
Statement (3) opens the paragraph bklntro Jucmg the subject: seven popular Japanese deities who bring good luck. Statement (1) then

comments on the aspect of good fo}tur@‘mlowed by statements (4) and (2). Statement (4) clarifies how only two of these seven entities
qualify as indigenous Jlépanese gods while Statement (2) comments on the origin/background of the rest. Hence, (3)-(1)-(4)-(2) forms a

coherent arrangement.\ |
b
N

¥ CAT Syllabus (Download PDF)
/
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\
: \ fif
Instructlons\ B A /

Sixteen patientg'”m_ajq_o’s/ﬁital must undergo a blood test for a disease. It is known that exactly one of them has the disease. The hospital
has only eight testing kits and has decided to pool blood samples of patients into eight vials for the tests. The patients are numbered 1
through 16, and the vials are labelled A, B, C, D, E, F, G, and H. The following table shows the vials into which each patient’s blood sample
is distributed.
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Patient| Vials |Patient| Vials
1 B,D,F,H 9 A,D,F.H
B,D,F,G 10 AD,F,G
B,D,E,H 11 A,D,EH
B,D,E,G 12 AD,E,G
B.C.F.H 13 ACF.H
B,C,F,.G 14 ACF,G
B,C,E.H 15 A,C.EH
8 B,C.E.G 16 ACE.G

=l |4 ||k

If a patient has the disease, then each vial containing his/her blood sample will test positive. If a vial tests positive, one of the patients
whose blood samples were mixed in the vial has the diseasefa.vial tests negative, then none of the patients whose blood samples were
mixed in the vial has the disease. '

Question 27

Suppose vial C tests positive and vials A, E and H test negative. Which patient has the disease?

>

Patient 14

B Patient 8

C Patient6

o

Patient 2

Answer: C

Explanation:
The patients in

Vial A:9,10,11,12,13,14,15,16
Vial B:1,2,3,4,5,6,7, 8

Vial C: 5,6,7,8,13,14,15,16

Vial D:1,2,3,4,9,10,11,12

Vial E:3,4,7,8,11,12,15,16

Vial F:1,2,5,6/9,10,13,14

Vial G:2,4,6,8,10,12,14,16

Vial H:1,3,5,7,9;11;13,15

If vial C tests positive and vials A, E and H test negative then Patient 6 must have disease as all other patients in Vial C expect patient 6
are present in at least one of A, E, H.

Free Videos for CAT Preparation
Question 28

Suppose vial A tests positive and vials D and G test negative. Which of the following vials should we test next to identify the patient
with the disease? '

A VialB
B VialE
C VialC

D VialH

Answer: B

Explanation:
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The patients in f'\
Vial A:9,10,11,12,13,14,15,16 \
VialB:1,2,3,4,5,6,7,8. \

Vial C: 5,6,7,8,13,14,15,16 g
Vial D:1,2,3,4,9,10,11,12

<

4

Vial E:3,4,7,8,11,12,15,16

Vial F:1,2,5,6,9,10,13,14

____

Vial G:2,4,6,8,10,12,14,16 —

Vial H:1,3,5,7,9,11,13,15 J—

Suppose vial A tests positive d vial \d{itest negative then the patient who tested positive must be one of patient 13 or 15.

Patient 13 or 15 are not present in vial B. So Kis not the answer.

Both patients present in vial C. Even 'fjes/ positive or negative we can't know who has got the disease. So, C is not the answer.

Both patients present ié.?/ial H. Even if tested positive or negative we can't know who has got the disease. So, H is not the answer.
&\.

only patient 15 is pre t\fﬂ\via| E, if tested positive then patient 15 has the disease else patient 13 as disease.

Hence Option 2 is correct. “‘\\}

Question 29 ,",/}
y

Which of thg (oIIOfiigj!})inations of test results is NOT possible?

/!

N
i
A Vials A aWials C and D negative

B Vial B positive, vials C, F and H negative
C Vials A and G positive, vials D and E negative

D Vials B and D positive, vials F and H negative

Answer: A /
Explanation: O

The patients in

Vial A:9,10,11,12,13,14,15,16
Vial B:1,2,3,4,5,6,7,8.

Vial C: 5,6,7,8,13,14,15,16

Vial D:1,2,3,4,9,10,11,12

Vial E:3,4,7,8,11,12,15,16 \
Vial F:1,2,5,6,9,10,13,14

Vial G:2,4,6,8,10,12,14,16

Vial H:1,3,5,7,9,11,13,15
%e. Hence A is correct answer.

Suppose one of the lab assistants accidentally mixed two patients’ blood samples before they were distributed to the vials. Which of
the following correctly represents the set of all possible numbers of positive test results out of the eight vials?

If vials C and D negative then no patient cou

Question 30

A {5678}
B {4567}

C {45678}

I N
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b 45

Answer: C

Explanation:
Let one of the patients, patient 1 or patient 16 has the disease and his blood is mixed with other them all 8 vials will tests positive. =

8 has to be one of the answers.

If patient 2 and patients 16's blood is mixed of one of them has the disease then 7 of the 8 vials will test positive. So 7 has to be there in
the option.

If 1 has the disease and 1,7 are mixed then 6 out the 8 vials tests positive.
IF 1 has the disease and 1,9 are mixed then 5 of the 8 vials tests positive,
Now, let us assume that patient 1 has the disease if his blood is not mixed, then 4 vials will definitely show positive.

Hence 3 is the correct answer.

Best Online Coachingfor CAT

Instructions

XYZ organization got into the business of delivering groceries to home at the beginning of the last month. They have a two-day delivery
promise. However, their deliveries are unreliable. An order booked on a/particular day may-be-delivered the next day or the day after. If the
order is not delivered at the end of two days, then the order is declared as lost at the-end of the second day. XYZ then does not deliver the
order, but informs the customer, marks the order as lost, returns the payment and pays a penalty for non-delivery. The following table
provides details about the operations of XYZ for a week of the last month. Fhe first column gives the date, the second gives the
cumulative number of orders that were booked up to and including that day. The third-column represents the number of orders delivered
on that day. The last column gives the cumulative number of orders that were lost up to and including that day. It is known that the
numbers of orders that were booked on the 11th, 12th, and 13th of the last month that took two days to deliver were 4, 6, and 8
respectively

Day Cumilative orders booked |Orders delivered on day |Cumilative orders lost
13th 219 11 91
1l4th 249 27 92
15th 277 23 94
16th 302 11 106
17th 327 21 118
18th 332 13 120
19th 337 14 129
Question 31

Among the following days, the largest fraction of orders booked on which day was lost?

A 15th
B 16th
C 13th

D 14th
Answer: A

Explanation:
The cumulative orders beoked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we can find the orders’booked on that day till 14th.
Number of orders lost that were booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th.

Downloaded from cracku.in


https://cracku.in/cat-online-coaching
https://cracku.in

Similarly, we can find the orders which took 1day and 2 days to get delivered till 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6 1

13 31 21 8 2 11

14 30 15 3 12 27

15 28 8 8 12 23

16 25 13 10 2 11

17 25 3 13 9 21

18 5 1 13

19 5 14

Now, total number of orders booked on 12th will be 7+6=1=14.
Fraction of orders booked on 15th that were lost = 12/28
Fraction of orders booked on 16th that were lost = 2/25
Fraction of orders booked on 13th that were lost =2/31
Fraction of orders booked on 14th that were lost = 8/30.

.. Option A is correct answer.

Question 32

On which of the following days was the number of orders booked the highest?

A 12th
B 15th
C 13th

D 14th

Answer: C

Explanation:
The cumulative orders beoked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we can find the'orders booked on that day till 14th.
Number of orders lost thatwere booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th.

Similarly, we'can_find thesorders which took 1day and 2 days to get delivered till 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6 1

13 31 21 8 2 11

14 30 15 3 12 27

15 28 8 8 12 23

16 25 13 10 2 11

17 25 3 13 9 21

18 5 1 13

19 5 14

Now, total number of orders booked on 12th will be 7+6+1=14.
The total number of orders placed on 13th = 21+8+2 = 31
FRom the table we can determine that among options, number of orders booked'en 13th are maximum.
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Question 33

The delivery ratio for a given day is defined as the ratio of the number of orders’booked on that day which are delivered on the next day
to the number of orders booked on that day which are delivered-on the second day after booking. On which of the following days, was
the delivery ratio the highest? :

A 15th
B 16th
C 13th

D 14th

Answer: D

Explanation:
The cumulative orders booked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we can find the orders‘booked on that day till 14th.
Number of orders lost that were booked on'12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till17th‘can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th.

Similarly, we can find the erders which took 1day and 2 days to get delivered till 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6 1

13 31 21 8 2 11

14 30 15 3 12 27

15 28 8 8 12 23

16 25 13 10 2 11

17 25 3 13 9 21

18 5 1 13

19 5 14

Now, total number of orders booked on 12th will be 7+6+1=14.

From the table we can determine that among options, number of orders booked on' 13th/are maximum.
For 15 the delivery ratio = 8/8 = 1

For 16 the delivery ratio = 13/10 = 1.3

For 13 the delivery ratio = 21/8 = 2.625

For 14 the delivery ratio=15/3 =5

Hence Option D

Get MBA Exam Updates: Whatsapp"CAT" to 7661025559

Question 34

The average time taken to deliver orders booked on a particular day is computed as follows. Let the number of orders delivered the
(z42y)
next day be x and the number of orders delivered the day, after be y. Then the average time to deliver order is (z+%) . On which of the

following days was the average time taken to deliver orders-booked the least?

A 15th

B 13th
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c 14th

D 16th

Answer: C

Explanation:
The cumulative orders booked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we can find the-orders booked on that day till 14th.
Number of orders lost.that were booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders.lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th:

Similarly, we ¢an find the orders which took 1day and 2 days to get delivered till 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6

13 31 21 8 2 11
14 30 15 3 12 27
15 28 8 8 12 23
16 25 13 10 2 11
17 25 3 13 9 21
18 5 1 13
19 5 14

Now, total number of orders booked on 12th will be 7+6+1=14.
FRom the table we can determine that among options, number of orders\booked on 13thjare maximum.

Average time can be calculated as follows

X ¥ x+2y X+y (x+2y)/ (x+y)
13 21 8 37 29| 1.275862069
14 15 3 21 18| 1.166606667
15 8 8 24 16 1.5
16 13 10 33 23| 1.434782609

14 is the least
Instructions

A farmer had a rectangular land containing 205 trees. He distributed that land among his four daughters - Abha, Bina, Chitra and Dipti by
dividing the land into twelve plots along threetows (X,Y,Z) and four Columns (1,2,3,4) as shown in the figure below:

1 2 3 4
X 12
C
21
Y
A A
=] 28
zZ
B C

The plots in rows X, Y, Z contained mango, teak and pine trees respectively. Each plot had trees in non-zero multiples of 3 or 4 and none
of the plots had the same number of trees./Each daughter got an even number of plots. In the figure, the number mentioned in top left
corner of a plot is the number of trees in that plot, while the letter in the bottom right corner is the first letter of the name of the daughter
who got that plot (For-example, Abha got the plot in row Y and column 1 containing 21 trees). Some information in the figure got erased,
but the following is known:

1. Abha got 20 trees more thanGhitra but 6 trees less than Dipti.
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2. The largest mimber of trees in a plot was 32, but it was not with Abha.

3. The number of teak trees.in Column 3 was double of that in Column 2 but was half of that in Column 4.
4. Both Abhé and Bina gota higher number of plots than Dipti.

5. OnIy Bina, Ghltra and Dlptl got corner plots.

. Chitra and Dipti did not get plots which were adjacent to each other (either in row / column / diagonal).

6.
7. Bina was the only one who got a plot in each row and each column.
8
9. The number of mango trees was double the number of teak trees.
Question 35

How many mango trees were there in total?

D 126

Answer: C

Explanation:
There are 12 plots and each of them got even number of pIots So pOSSIb|e cases are 44,22 or 6,2,2,2.

From 4, A and B got more plots than D. So, the only possible case is A,. B each got 4 and C,D each got 2.

From 6, D has to get two adjacent plots and From 8, plots of C, D are nit adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X1, Z2. So, the corner plot Z4 should belong to B.

From 7, B has a plot in each row and each column. So X2 should belong to B.

Now, out of the remaining Y2, Y3, Y4 and Z3 three plots belong 19 A and one belongs to B.

Till now B hasn't got any plot in Third colump’and 2nd row. |

So, Y3 belongs to B and Y2, Y4, Z3 belongs':tc-) A

Let the number of trees in Y4 be 4x from ?;';_"humber of treES in Y3, Y2 will be 2x, x respectively.

The number of teak trees=7x+21 !

.. Number of mango trees=14x+42 _

The table now looks like: L8
1 ' 2 3 4

12 14x+42
X

C B D D

21 X 2x 4x Tx+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3 or 4 and none of the plots had the same number oftrees and from 2, B didn't have the
largest number of trees in a plot => x<8. ~ ' f -
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x can't be 7,5,3,2,1 as for these cases at least one of x,2x,4x is neither multiple-of 3 or 47
X can be 6 or 4.

If x=6, number of Teak trees will be 63 and Mango trees will be 126 => Number.of Pine tréés= 205-126-63=16 but number of trees in
Z3+74>16 50, X7 6. \

If x=4, Number of Teak trees=49 and Mango trees=98 => Number of Pine trees=58. Valid case.
Number of trees with A= 30+5x=50.

From 1, number of trees with C, D= 30, 56 respectively.

So, number of trees in Z2= 18.

.. Number of trees with B= 205-50-30-56=69.

From 2, largest number of trees in a plot is 32.. They can\be in the plot of either B or D. If they are from B, they have to be from X2 but in
that case number of trees in Z1=1 which is neithera multiple.of-3-or4

So, highest number of trees in a plot are with D and it'is:3_’2 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in X2= 98-56-12=30
.. Number of trees in Z1=69-30-28-8=3.

The final table will look like:

12 : 30 32/24 24/32 : 08
X

C B D D

21 1 8 16 49
Y

A A B A

3 18 9 28 58
Z

B C A B

.. Number of Mango trees=98.
Question 36

Which of the following is the correct sequence of trees received by Abha, Bina, Chitra and Dipti in that order?

A 50, 69,30,56
B 54,57,34,60
C 44,87,24,50

D 60, 39, 40, 66

Answer: A

Explanation: S
There are 12 plots and each of them got even number of plots. So, possible cases are 4,4,2,2 or 6,2,2,2.

From 4, A and B got more plots than D. So, the only possible case is A, B each got 4 and C,D each got 2.
From 6, D has to get two adjacent plots and From 8, plots of C, D afe nit.adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X1, Z2. So, the corner plot Z4 should belong to B.

From 7, B has a plot in each row and each column. So, X2 should belong to B.
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Now, out of the remaining Y2, Y3, Y4 and Z3 thr'eepl‘ots bglong to A-and one belongs to B.

Till now B hasn't got any plot in Third column and 2nd. row.

So, Y3 belongs to B and Y2, Y4, Z3 belongs to.A.

Let the number of trees in Y4 be 4x from 3,"_n‘uﬁ1ber of trees in Y3, Y2 will be 2x, x respectively.
The number of teak trees=7x+21

.. Number of mango trees=14x+42

The table now looks like:

1 2 3 4

12 14x+42
X

C B D D

21 b 2x 4x 7x+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3 or 4 and none of the plots had the same number of trees and from 2, B didn't have the
largest number of trees in a plot => x<8.

x can't be 7,5,3,2,1 as for these cases at least one of x,2x,4x is neither mulfiple of 3 or 446
x can be 6 or 4. f

If x=6, number of Teak trees will be 63 and Mango trees will be 126 =>, Num_ber"of Pine ffées= 205-126-63=16 but number of trees in
Z3+74>16 so0, xZ 6. y :

If x=4, Number of Teak trees=49 and Mango trees=98 => Number of ﬁ’iné tre'e‘s=58‘ VaIi_d_jc'ase.
Number of trees with A= 30+5x=50. A

From 1, number of trees with C, D= 30, 56 respectively.

So, number of trees in Z2= 18.

.. Number of trees with B= 205-50-30-56=69.

From 2, largest number of trees in a plot is 32. They can be in the‘p‘lot of sither B or D. If they are from B, they have to be from X2 but in
that case number of trees in Z1=1 which is neither a multiple of 3 or 4.

So, highest number of trees in a plot are with,D and it is'32 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in X2=98-56-12=30
.. Number of trees in Z1=69-30-28-8=3.

The final table will look like:
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1 2 3 4

12 30 32/24 24/32 08
X

C B D D

21 1 8 16 49
Y

A A B A

3 18 9 28 58
Z

B C A B

Sequence of trees received by Abha, Bina, Chitra and Dipti is 50,69,30,56.

Important Verbal Ability Questions for-CAT (Download PDF)

Question 37

How many pine trees did Chitra receive?

Answer: A

Explanation:
There are 12 plots and each of them got even.number of plots. So, possible cases are 4,4,2,2 or 6,2,2,2.

From 4, A and B got more plots than D. So/the only possible case is A, B each got 4 and C,D each got 2.

From 6, D has to get two adjacent plots and,From 8, plots of C, D are nit adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X1, Z2. So, the cornerplot-Z4-should belong to B.

From 7, B has a plot in each row and each column. So, X2 should belong to B.

Now, out of the remaining Y2, Y8,¥4-and.Z3 three plots belong to A and one belongs to B.

Till now B hasn't got any plot in Third cblumn and 2nd row.

So, Y3 belongs to B and Y2, Y4, Z3 belongsto A.

Let the number of trees/in Y4 be 4x frém 3; number of trees in Y3, Y2 will be 2x, x respectively.

The number of teak treas=7x+21

.. Number of mango treés=14x+42

The table now looks like:
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12 14x+42
X

C B ] D

21 X 2x 4x Tx1+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3-er 4 and nohe of the plots had the same number of trees and from 2, B didn't have the
largest number of trees in a plot => x<8.

x can't be 7,5,3,2,1 as for these cases at least one of x,2x,4x-is neither multiple of 3 or 4.
X can be 6 or 4.

If x=6, number of Teak trees will be 63 and/Mango trees will be 126 => Number of Pine trees= 205-126-63=16 but number of trees in
73+7Z4>16 so, xZ 6.

If x=4, Number of Teak trees=49 and Mango trees=98 =>Number of Pine trees=58. Valid case.
Number of trees with A= 30+5x=50.

From 1, number of trees with C, D=-30,.56 respectively.

So, number of trees in Z2= 18,

.. Number of trees with B= 205-50-30-56=69.

From 2, largest number of trees in a ploetis'32. They can be in the plot of either B or D. If they are from B, they have to be from X2 but in
that case number of trées in Z1=1 which is neither a multiple of 3 or 4.

So, highest number of-trees in a plot are with D and it is 32 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in X2= 98-56:12=30
.. Number of trees in Z1=69-30-28-8=3.

The final table will look like;

1 2 3 4
12 30 32/24 24/32 08§
X
C B D D
21 4 8 16 49
Y
A A B A
3 18 9 28 58
z
B C A B

Number of Plne trees received by Chitra = 18.
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Question 38

Who got the plot with the smallest number of trees and how rﬁény. trees did ‘I_that plot have?

A Dipti, 6 trees
B Bina, 3 trees
C Bina, 4 trees

D Abha, 4 trees
Answer: B I
Explanation: < -
There are 12 plots and each of them got even number of plots. So, possible cases are 4,4,2,2 or 6,2,2,2.
From 4, A and B got more plots than D So the only possible case is A, B each got 4 and C,D each got 2.
From 6, D has to get two adjacent plots and From 8, plots of C, D are nit adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X1, Z2. Sq,th_e Qgrner plot Z4 should belong to B.
From 7, B has a plot in gach row and é'éch"bolumn. So, X2 should belong to B.
Now, out of the rema@ni,n‘g_YZ, Y3, Y4 and Z3 three plots belong to A and one belongs to B.
Till now B hasn't got any'pidi'_in..Tnird column and 2nd row.
So, Y3 belongs to B and Y2, Y4,-23"belongs to A.
Let the numb'ér".nf trees in Y4 be 4x from 3, number of trees in Y3, Y2 will be 2x, x respectively.
The numberl\.n]_c teak trees=__l7:x+2‘l
. Number o?hé_’ngo tre_es;'ﬂ 4Ax+42

The table now looks like:

1 2 3 4

12 14x+42
X

C B D D

21 X 2x 4x 7x+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3 or 4 and none of the plots had the same number of trees and from 2, B didn't have the
largest number of trees in a plot => x<8. A

x can't be 7,5,3,2,1 as for these cases at Ieasfb}'_he of x,2x,4x is neithermultiple of 3 or 4.
x can be 6 or 4. B '

If x=6, number of Teak trees will be 63 and Mango trees WI” be 126 => Number of Pine trees= 205-126-63=16 but number of trees in
73+Z4>16 s0, X7 6.

If x=4, Number of Teak trees=49 and Mang‘b‘trees=98 => Number of Pine trees=58. Valid case.

Number of trees with A= 30+5x=50.
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From 1, number of trees with C, D= 30, 56 respectively.
So, number of trees in Z2= 18. _
. Number of trees with B= 208:50-3056=60:>

From 2, largest number of trees in a plot is 32. They can be in the plot of either B or D. If they are from B, they have to be from X2 but in
that case number of trees in Z1=1 which ig neither a multiple of 3 or 4.

So, highest number of trees in a plot are with D and it is 32 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in-X2=.98-56-12=30
. Number of trees in Z1=69-30-28-8=3.

The final tablewill look like:

12 1 30 32/24 24/32 : 08
X

C B D D

21 1 8 16 49
Y

A A B A

3 18 9 28 58
Z

B C A B

.. Number of trees per plot is least for Benna=3.
Question 39

Which of the following statements is NOT true?

A Chitra got 12 mango trees
B Bina got 32 pine trees.
C Abha got 41 teak trees.

D Dipti got 56 mango trees

Answer: B

Explanation: L\ |
There are 12 plots and each of them got even.number of plots. So, possible cases are 4,4,2,2 or 6,2,2,2.

From 4, A and B got more plots than D. So, th.e. only possible case is A, B each got 4 and C,D each got 2.

From 6, D has to get two adjacent-plots _and From 8, plots of C, D are nit adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X1, 22 So, t:hé-~cqrner plot Z4 should belong to B.

From 7, B has a plot in each row and each cblumn. So, X2 should belong to B.

Now, out of the remaining Y2, Y3, Y4 and Zi3'three plots belong to A and one belongs to B.

Till now B hasn't got any plot in Third column and 2nd row.

So, Y3 belongs to B a'nd.;-Y,z, Y4, Z3 belongs to A.

Let the number of trees in Y4 be 4X from 3, number of trees in Y3, Y2 will be 2x, x respectively.

The number of::ceak trees=7x+21

.. Number qu mango treess14x+42
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The table now:looks like:

1 2 3 4

12 14x+42
X

C B D D

21 x 2x 4x Tx4+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3 or 4 and none of'the plots had the same number of trees and from 2, B didn't have the
largest number of trees in a plot => x<8.

x can't be 7,5,3,2,1 as for these cases at least one of x,2x,4x is neither multiple of 3 or 4.
x can be 6 or 4.

If x=6, number of Teak trees will be 63 and Mango trees will.be-126 => Number of Pine trees= 205-126-63=16 but number of trees in
Z3+Z4>16 s0, X7 6.

If x=4, Number of Teak trees=49 and Mango trees=98 => Numher of Pine trees=58. Valid case.
Number of trees with A= 30+5x=50.

From 1, number of trees with C, D= 30, 56 respectively.

So, number of trees in Z2=18.

.. Number of trees with B= 205-50-30-56=69.

From 2, largest number of trees in-a-plot is 32. They can be in the plot of either B or D. If they are from B, they have to be from X2 but in
that case number of trees in Z1=1 which.is-neither a multiple of 3 or 4.

So, highest number of trees in-a plot are with D and it is 32 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in X2= 98-56-12=30
.. Number of trees in Z1169-30-28-8=3.

The final table will look like:

1 2 3 4

12 30 32/24 24/32 08
X

C B D ]

21 4 8 16 49
Y

A A B A

3 18 9 28 58
Z

B C A B
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Bina got 28 pine trees, Option B is correct answer.

CAT Percentile Predictor
Question 40 >

Which column had the highest number of trees?

C Cannot be determined

D 2

Answer: A

Explanation: LN ;
There are 12 plots and each of them got even number of plots. So, possible cases are 4,4,2,2 or 6,2,2,2.

From 4, A and B got more plots than D. So, the only possible case is A, B each got 4 and C,D each got 2.

From 6, D has to get two adjacent bloi__'s and From 8, plots of C, D are nit adjacent to each other => D must have got plots in X3, X4.
C already has two plots in X‘IZZ So, ﬁ%e‘c:orner plot Z4 should belong to B.

From 7, B has a plot in each row and each cplumn. So, X2 should belong to B.

Now, out of the remaining Y2, Y3, Y4 and Z3 three plots belong to A and one belongs to B.

Till now B hasn't got any plot in Third column and 2nd row.

So, Y3 belongs to B an;i-YZ, Y4 Z3_ belongs to A.

Let the number of trees in Y4 bé 4x from 3, number of trees in Y3, Y2 will be 2x, x respectively.

The number of féak trees=7x+21

.. Number o‘f_ mango treesz14x+42

The table now ook like’

1 2 3 4

12 14x+42
X

C B D D

21 X 2x 4x Tx+21
Y

A A B A

9 28

Z

B C A B

Each plot had trees in non-zero multiples of 3 or 4 and none of the plets had/he same number of trees and from 2, B didn't have the
largest number of trees in a plot => x<8. - ‘

x can't be 7,5,3,2,1 as for these cases at least one of x,2x,4x is neither multiple of 3 or 4.
x can be 6 or 4. :

If x=6, number of Teak trees will be 63 and Mangd ’tr‘eé's_,_ will be 126 => Number of Pine trees= 205-126-63=16 but number of trees in
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Z3+Z4>16 s0, X7 6.
If x=4, Number of Teak trees=49 and Mang,d,"‘c)r'ees=98 => Number of Pine trees=58. Valid case.
Number of trees with A= 30+5x=50. “ _‘
From 1, number of trees with C, D= 30, 56 Feepectively.
So, number of trees in Z2= 18. —
". Number of trees with B= 205- 50 30-56 69

From 2, largest number of trees ina plot is- 32 They can be in the plot of either B or D. If they are from B, they have to be from X2 but in
that case number of trees in Z1=1 Wthh is nelther a multiple of 3 or 4.

So, highest number of trees in a plot are w1th D and it is 32 -=> number of trees in X3, X4 are 32, 24 in any order.
So, number of trees in X2- 98-56-12=30
". Number of trees in- Z1 69 30 28-8=3.

The final table will look Ilke <

TR 30 32/24 24/32 : 08
X

C B D D

21 1 8 16 49
Y

A A B A

3 18 9 28 58
Z

B C A B

Column 1,2,3,4 have 36, 52, 49, 68 trees respectively.
Hence A is correct answer.
Instructions

The Hi-Lo game is a four-player game played in six rounds. In every round, éach'player chooses to bid Hi or Lo. The bids are made
simultaneously. If all four bid Hi, then all four lose 1 point each;“lf.three players bid Hi and one bids Lo, then the players bidding Hi gain 1
point each and the player bidding Lo loses 3 points. If two playe\'r"s bid-Hi andtwo bid Lo, then the players bidding Hi gain 2 points each
and the players bidding Lo lose 2 points each. If one player bids Hi and three bid Lo, then the player bidding Hi gains 3 points and the
players bidding Lo lose 1 point each. If all four bid Lo, then all four gain 1 point each. Four players Arun, Bankim, Charu, and Dipak played
the Hi-Lo game. The following facts are known about th‘eir game:

1. At the end of three rounds, Arun had scored 6 pomts Dlpak had scored 2 points, Bankim and Charu had scored -2 points each.
2. At the end of six rounds, Arun had scored 7 points, Banklm and Dipak had scored -1 point each, and Charu had scored -5 points.
3. Dipak’s score in the third round was less than his score in the: first round but was more than his score in the second round.

4. In exactly two out of the six rounds, Arun was the only pIayer‘\')vho bid Hi.

Question 41 .

What were the bids by Arun, Bankim, Charu,and Dipak, respectively in the first round?
A Hi, Lo, Lo, Hi
B Hi, Lo, Lo, Lo
C Hi Hi Lo, Lo Sl N

D Lo, Lo, Lo, Hi
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Answer: A

Explanation:
Let 'H' represents Hi and 'L' represents Lo.

Given if they bid

Case 1: HHHH'then all players gets -1 points.
Case 2: HHHL =>H-gets +1 and L gets -3.
Case 3: HHLL => H gets +2 and L gets -2.
Case 4: HLLL => H gets +3 and L gets -1.
Case 5: LLLL => every player gets +1.

From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS RB ' T2
A B 7
B -2 1
c -2 5
D D1 D3 D2 2 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points till round 6:

**Arun, Bankim, Charu, and Dipak are represented by A, B, C, D-réspectively.

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible scenarios are :

CaseD1:3,2,-3

In this case the points of A in R1, R3, R2 will be -1,2/-2, T-in any possible combination the sum will not be 6. So, this case is invalid.
Case D2:2,1,-1

In this case the points of A in R1, R3, R2 willbe'2/-2, 1/-3,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of A in R1, R3, R2 will be -1;-17/-3/1, 2/-2 in any possible combination the sum will not be 6. So, this case is invalid.
.". Points of A,D in (R1,R2,R3) are (2,3,1) and (2,-1,1) respectively.

Since A got +3 in R2, he is only,the one to-hid h in R2 and points of B and C in round 2 are -1,-1 i.e they bid L, L.

Since A and D got 2 points each in R1; C and B-must have got -2, -2 i.e they bid L, L.

Since A and D got 1 point in R3, C and'B must also have got 1 in R3 i.e they bid L, L.

With this data, the table now looks like:

R1 R2 R3 T1 R4 R5 R& ' T2

A 2 3 1 B 7
H H L

B 2 -1 1 -2 -1
L L L

C -2 -1 1 -2 -5
L L L

D 2 -1 1 2 -1
H L L

No information is given about the individual scores in R4, R5, R6.
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Given In exactly two out of the six rounds, Arun was the only player who bid.Hi.

Let R.x, Ry, R.z represent R4, R5, R6 in any order.

Let A bid H in R.x=>B,C,D bid L.

The table now looks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 5] 3 7
H H L H

B -2 1 1 -2 -1 -1
L L L L

c -2 1 1 -2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, R.x+R.y+R.z=1 => R.y+R.z=-2
For B, R.x+R.y+R.z=1 => R.y+R.z=2
For C, R.x+R.y+R.z=-3 => R.y+R.z=-2
For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2
(R.y, R.z) for A can be (-3,1) or (-1,-1)
Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both C,D: R.y+R.z=-2

We can't get any combination such thatthetotal points of B,C,D are obtained.

Case A2:

If for A, (R.y, R.2)=(-1,-1).the (R.y, R.z)of B,C,D can be (3,-1), (-1,-1), (-1,-1) and they must have bid (H,H), (L,H), (L,H) respectively while A

must have bid (L, H)
Hence this case is valid:

The final table looks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 6 3 -1 1 7
H H L H L H

B -2 -1 1 -2 -1 3 1 -1
L L L L H H

C -2 -1 1 -2 -1 -1 1 5
L L L L L H

D 2 -1 1 2 -1 -1 1 -1
H L L L L H

The bids by Arun, Bankim, Charu and Dipak, respectively in the first round are HLLH.

Hence Option A is correct.
Question 42

In how many rounds did Arun bid Hi?

Answer:4

Explanation:

Let 'H' represents Hi and 'L' represents Lo.

Given if they bid
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Case 1: HHHH then all players gets -1 points.
Case 2: HHHL => H gets +1 and L gets -3.
Case 3: HHLL => H gets +2 and L gets -2.
Case 4: HLLL => H gets +3 and L gets -1.
Case 5: LLLL => every player gets +1.

From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS RB ' T2
A 6 7
B -2 1
c -2 5
D D1 D3 D2 P 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points till round 6.

**Arun, Bankim, Charu,"and Dipak are represented by A, B, C, D respectively.

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible scenarios are :

Case D1:3,2-3

In this case the'points of A’in R1, R3, R2 will be -1,2/-2, 1 in any possible combination the sum will not be 6. So, this case is invalid.
Case D2:2,1,-1

In this case the points of Ain R1, R3, R2 will be 2/-2, 1/-3,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of A in R1, R3, R2 will be -1, 1/-3/1, 2/-2 in any possible combination the sum will not be 6. So, this case is invalid.
.. Points of AD in (R1,R2,R3) are (2,3,1) and (2,-1,1) respectively.

Since A got +3 in R2, he is only the one to bid h in R2 and points of B and C in'round 2 are -1,-1 i.é they bid L, L.

Since A and D got 2 points each in R1, C and B must have got -2, -2 i.e they bid I, L.

Since A and D got 1 point in R3, C and B must also have got 1 in R3 i.e they bid L/L-

With this data, the table now looks like:

Rl R2 R3 T1 R4 R5 R& ' T2

A 2 3 1 6 7
H H L

B -2 -1 1 -2 -1
L L L

C 2 -1 1 -2 5
L L L

D 2 -1 1 2 -1
H L L

No information is given about the individual scores in R4, R5, R6:

Given In exactly two out of the six rounds, Arun was the only player who bid Hi.
Let R.x, Ry, R.z represent R4, R5, R6 in any order.

Let A bid H in R.x=>B,C,D bid L.

The table now looks like:
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R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 5] 3 7
H H L H

B -2 1 1 -2 -1 -1
L L L L

c -2 1 1 -2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, Rx+R.y+R.z=1 => R.y+R.z=-2
For B, Rx+R.y+R:z=1 =>R.y+R.z=2
For C, R.x+R.y+R.z=-3 => R.y+R.z=-2
For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2
(R.y, R.z) for A can be (-3,1) or (-1,-1)
Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both C,D: R.y+R.z=-2

We can't get any combination such that the total points of B,C,D are obtained.

Case A2:

If for A, (R.y, R.z2)=(-1,-1).the (R.y, R.z) of B,C,D can be (3,-1), (-1,-1), (-1,-1)-and they must have bid (H,H), (L,H), (L,H) respectively while A

must have bid (L, H)
Hence this case is valid.

The final table looks like:

R1 R2 R3 T1 R.x Ry Rz T2

A 2 3 1 6 3 -1 -1 7
H H L H L H

B -2 -1 1 -2 -1 3 -1 -1
L L L L H H

C -2 -1 1 -2 -1 -1 -1 -5
L L L L L H

D 2 -1 1 2 -1 -1 -1 -1
H L L L L H

Arun bid high in R1,R2, R.x, R.z hence, 4 is'correct answer.
About CAT exam

Question 43

In how many rounds did Bankim bid/Lo?

Answer:4

Explanation:
Let 'H' represents Hi and“L represents Lo.

Given if they bid

Case 1: HHHH then all players gets -1 points.
Case 2: HHHL => H gets +1 and L gets -3.
Case 3: HHLL:=>.H gets.+2 and L gets -2.
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Case 4: HLLL => H gets +3 and L gets-1.
Case 5: LLLL => every player gets +1.

From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS RB ' T2
A B 7
B -2 1
c -2 5
D D1 D3 D2 2 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points.till round 6.

**Arun, Bankim, Charu, and Dipak are represented by A, B, C, D respectively:

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible scenarios-are :

CaseD1:3,2,-3

In this case the points of Ain R1, R3, R2 will be -1,2/-2, 1 in any possible combination the sum will not be 6. So, this case is invalid.
Case D2:2,1,-1

In this case the points of A in R1, R3, R2 will be 2/-2, 1/-3,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of A in R1, R3, R2 will be -1, 1/-3/1,2/-2 in any possible combination the sum will not be 6. So, this case is invalid.
.". Points of A,D in (R1,R2,R3) are (2,3,1) and (2,-1,1) respectively.

Since A got +3 in R2, he is only the one to bid h in'RZ and points of B and C in round 2 are -1,-1 i.e they bid L, L.

Since A and D got 2 points each in-R1,.C and B must have got -2, -2 i.e they bid L, L.

Since A and D got 1 point in R3,/C and B must-also have got 1in R3 i.e they bid L, L.

With this data, the table now looks like:

R1 R2 R3 T1 R4 R5 R& ' T2

A 2 3 1 B 7
H H L

B 2 -1 1 -2 -1
L L L

C -2 -1 1 -2 -5
L L L

D 2 -1 1 2 -1
H L L

No information is given about the individual scores in R4, R5, R6.

Given In exactly two out of the six rounds, Arun was the only player who bid Hi.
Let R.x, Ry, R.z represent R4, R5, R6 in any order.

Let A bid H in R.x=> B,C,D bid L.

The table now looks like:
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R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 5] 3 7
H H L H

B -2 1 1 -2 -1 -1
L L L L

c -2 1 1 -2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, R.x+R.y+R.z=1 => R.y+R.z=-2
For B, R.x+R.y+R.z=1 => R.y+R.z=2
For C, R.x+R.y+R.z=-3 => R.y+R.z=-2
For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2
(R.y, R.z) for A can be (-3,1) or (-1,-1)
Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both C,D: R.y+R.z=-2

We can't get any combination such that the'total points of B,C,D are obtained.

Case A2:

If for A, (R.y, R.2)=(-1£1):the (R.y, R.z) of B,C,D can be (3,-1), (-1,-1), (-1,-1) and they must have bid (H,H), (L,H), (L,H) respectively while A

must have bid (L, H)
Hence this case is valid.

The final tablée fooks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 6 3 -1 1 7
H H L H L H

B -2 -1 1 -2 -1 3 1 -1
L L L L H H

C -2 -1 1 -2 -1 -1 1 5
L L L L L H

D 2 -1 1 2 -1 -1 1 -1
H L L L L H

Bikram bid Lo in R1,R2,R3,R.x. Hence 4 is correct answer.
Question 44

In how many rounds did all four players make identical bids?

Answer:2

Explanation:
Let 'H' represents Hi and ‘L' represents Lo.

Given if they bid

Case 1: HHHH then all players gets -1 points.
Case 2: HHHL => H gets +1 and L gets -3.
Case 3: HHLL => H gets +2 and L gets -2.
Case 4: HLLL => H gets +3 and L gets -1.

Case 5: LLLL => every player gets +1.
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From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS Rb T2
A B 7
B -2 1
c -2 5
n] D1 03 D2 2 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points till round 6.

**Arun, Bankim, Charu, and Dipak.are represented by A, B, C, D respectively.

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible scenarios are :

Case D1:3,2-3

In this case the'paints of A in R1, R3, R2 will be -1,2/-2, 1 in any possible combination the sum will not be 6. So, this case is invalid.
Case D2:2,1,1

In this case the points of A in R1, R3, R2 will be 2/-2, 1/-3,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of A in R1, R3, R2 will be -1, 1/-3/1, 2/-2 in any possiblé combination the.sum will not be 6. So, this case is invalid.
.. Points of AD in (R1,R2,R3) are (2,3,1) and (2,-1,1) respectively.

Since A got +3 in R2, he is only the one to bid h in R2 and points of B and C/in round 2 are-1,-1.ie‘'they bid L, L.

Since A and D got 2 points each in R1, C and B must have got -2, -2 i.e they bid L, L«

Since A and D got 1 point in R3, C and B must also have got 1 in R3 i.e they.bid L, L.

With this data, the table now looks like:

R1 R2 R3 T1 R4 R5 Re T2

A 2 3 1 6 7
H H L

B 2 -1 1 -2 -1
L L L

c 2 -1 1 2 5
L L L

D 2 -1 1 2 -1
H L L

No information is given about the individual,scores in R4, R5, R6.

Given In exactly two out of the six rounds,/Arun was the only player who bid Hi.
Let R.x, Ry, R.z represent R4, R5, R6 in any'order.

Let A bid Hin R.x=>B,C,D bid L.

The table now looks like:
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R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 5] 3 7
H H L H

B -2 1 1 -2 -1 -1
L L L L

c -2 1 1 -2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, Rx+R.y+R.z=1 => R.y+R.z=-2
For B, R.x+R.y+R.z=1 => R.y+R.z=2
For C, R.x+R.y+R.z=-3 => R.y+R.z=-2
For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2
(R.y, R.z) for A can be (-3,1) or (-1,-1)
Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both C,D: R.y+R.z=-2

We can't get any combination such that the total points of B,C,D are obtained.

Case A2:

If for A, (R.y, R.2)=(-1,-1).the (R.y, R.z) of B,C,D can be (3,-1), (-1,-1), (-1;-1) and-they must have bid (H,H), (L,H), (L,H) respectively while A

must have bid (L, H)
Hence this case is valid.

The final table looks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 6 3 -1 1 7
H H L H L H

B -2 -1 1 -2 -1 3 1 -1
L L L L H H

C -2 -1 1 -2 -1 -1 1 5
L L L L L H

D 2 -1 1 2 -1 -1 1 -1
H L L L L H

All the players made identical bids inR3.and R.z
Question 45

In how many rounds did-Dipak gain exactly 1 point?

Answer:1

Explanation:
Let 'H' represents Hi and 'Ll represents Lo.

Given if they bid

Case 1: HHHH then all players gets -1 points.
Case 2: HHHL => H gets +1 and L gets -3.
Case 3: HHLL => H gets +2 and L gets -2.
Case 4: HLLL => H gets +3 and L gets -1.

Case 5: LLLL => every player gets +1.
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From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS Rb T2
A B 7
B -2 1
c -2 5
D D1 D3 D2 2 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points till-round 6.

**Arun, Bankim, Charu, and Dipak are represented by A,(B, C, D respectively.

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible'scenarios are :

Case D1:3,2-3

In this case the points of A in R1, R3, R2 willbe-1,2/-2, 1 in any possible combination the sum will not be 6. So, this case is invalid.
Case D2:2,1,1

In this case the points of A in R1, R3, R2 will be 2/-2, 1/-8,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of A in R1,/R3, R2 will be -1, 1/-3/1, 2/-2 in any possible combination the sum will not be 6. So, this case is invalid.
.. Points of AD in (R1,R2,R3) are (2,3,1) and\(2,-1,1) respectively.

Since A got +3 in R2, he is only the one.to.bid h in R2 and points of B and C in round 2 are -1,-1 i.e they bid L, L.

Since A and D got 2 pojnts each in R1, C and B must have got-2,-2 i.e they bid L, L.

Since A and D got 1 pointiin R3, C and B must also have got 1in R3 i.e they bid L, L.

With this data, the table nowlooks like:

R1 R2 R3 T1 R4 R5 Re T2

A 2 3 1 6 7
H H L

B 2 -1 1 -2 -1
L L L

c 2 -1 1 2 5
L L L

D 2 -1 1 2 -1
H L L

No information is given about the individual scores in R4, R5, R6.

Given In exactly two out of the six rounds, Arun was the only player wha bid Hi.
Let R.x, Ry, R.z represent R4, R5, R6 in any order.

Let A bid Hin R.x=>B,C,D bid L.

The table now looks like:
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R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 5] 3 7
H H L H

B -2 1 1 2 -1 1
L L L L

c -2 1 1 2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, Rx+R.y+R.z=1 => R.y+R.z=-2

For B, R.x+R.y+R.z=1 => R.y+Riz=2

For C, R.x+R.y+R.z=-3 => R.y+R.z=-2

For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2

(R.y, R.z) for A can be (:3,1) or (-1,-1)

Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both €,D: R.y+R.z=-2

We can't get any combination such that the total points of B,C,D are obtained.
Case A2:

If for A, (R.y, R.2)=(-1,-1).the (R.y, R.z) of B,C,D can be (3,-1), (-1,-1), (-1,-1) and they must have bid (H,H), (L,H), (L,H) respectively while A
must have bid (L, H)

Hence this case is valid.

The final table looks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 6 3 -1 1 7
H H L H L H

B -2 1 1 2 1 3 1 -1
L L L L H H

C -2 -1 1 2 -1 -1 1 5
L L L L L H

D 2 -1 1 2 -1 1 1 -1
H L L L L H

Deepak got exactly one point in only R3.

Hence 1 is correct answer.

Know the CAT PRercentile Required for IIM Calls

Question 46

In which of the following rounds, was Arun DEFINITELY theonly player to bid Hi?

A Second
B Third
C Fourth

D First

Answer: A
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Explanation:
Let 'H' represents Hi and:L' represents Lo.

Given if they bid

Case 1: HHHH then all players:gets -1 points.
Case 2: HHHL => H gets +1 and L gets -3.
Case 3: HHLL => H gets +2 and L gets -2.
Case 4: HLLL'\=> H gets +3/and L gets -1.
Case 5: LLLL == every-player gets +1.

From the given information we can draw the following table:

R1 R2 R3 T1 R4 RS RB ' T2
A B 7
B -2 1
C -2 5
[n] D1 03 D2 2 1

**T1 is the cumulative of points till Round 3 and T2 is sum of points till'round.6.

**Arun, Bankim, Charu, and Dipak are represented by A, B, C, D respectively.

From point 3, D1>D2>D3

D scored 2 points till round R3 and D1>D3>D2 the possible scenarios are.:

Case D1:3,2-3

In this case the points of A in R1, R3, R2 will be -1,2/-2, 1 in any possible combination the sum will not be 6. So, this case is invalid.
Case D2: 2,1,-1

In this case the points of A in R1, R3, R2 will be 2/-2, 1/-3,-1/3 so, if the points in R1, R3, R2 are 2,1,3 the case is valid and no other cases
are possible.

Case D3:3,1,-2

In this case the points of Ain R1, R3, R2 will be -1, 1/-3/1, 2/-2-in/any possible combination the sum will not be 6. So, this case is invalid.
.. Points of AD in (R1,R2,R3) are (2,3,1) and/(2,-1,1) respectively.

Since A got +3 in R2, he is only the one to bid h in R2 andpoints of B and C in round 2 are -1,-1 i.e they bid L, L.

Since A and D got 2 points each in R1, C and B.must have got -2, -2 i.e they bid L, L.

Since A and D got 1 point in R3, C and B must also have got 1in R3 i.e they bid L, L.

With this data, the table now looks-like:

R1 R2 R3 T1 Ra R5 Rb ' T2

A 2 3 1 B 7
H H L

B 2 -1 1 -2 -1
L L L

C 2 -1 1 -2 5
L L L

D 2 -1 1 2 -1
H L L

No information‘is.given-about the individual scores in R4, R5, R6.

Given In exactly two out of the six rounds, Arun was the only player who bid Hi.
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Let R.x, Ry, R.z represent R4, R5, R6 in any order.
Let A bid H in R.x=>B,C,D bid L.

The table now looks like:

R1 R2 R3 T1 Rx Ry Rz T2

A 2 3 1 ] 3 7
H H L H

B -2 1 1 2 -1 1
L L L L

C 2 1 1 2 -1 5
L L L L

D 2 1 1 2 -1 1
H L L L

For A, Rx+R.y+R.z=1 => R.y+R.z=-2

For B, R.x+R.y+R.z=1 => R.y+R.z=2

For C, R.x+R.y+R.z=-3 => R.y+R.z=-2

For D, R.x+R.y+R.z=-3.=> R.y+R.z=-2

(R.y, R.z) for A can be (-3,1) or (-1,-1)

Case A1:

If for A, (R.y, R.2)=(-3,1)

Since for both C,D: R.y+R.z=-2

We can't get any combination such that the\total points of/B,C,D are obtained.
Case A2:

If for A, (R.y, R.2)=(-1,-1).the (R.y, R.z) of B,C,D can be (3,-1), (-1,-1), (-1,-1) and they must have bid (H,H), (L,H), (L,H) respectively while A
must have bid (L, H)

Hence this case is valid.

The final table looks like:

R1 R2 R3 T1 R.x Ry Rz T2

A P 3 1 B 3 -1 1 7
H H L H L H

B -2 -1 1 -2 -1 3 -1 -1
L L L L H H

c -2 -1 1 -2 -1 -1 -1 -5
L L L L L H

D P -1 1 2 -1 -1 1 -1
H L L L L H

R2 is correct answer.
Instructions

A survey of 600 schools in India was conducted to gather information about their online teaching learning processes (OTLP). The
following four facilities were studied.

F1: Own software for OTLP

F2: Trained teachers for OTLP
F3: Training materials for OTLP
F4: All students having Laptops

The following observations were summarized from the survey.

1. 80 schools did not have any of the four facilities - F1, F2, F3, F4.
2. 40 schools had all four facilities.
3. The number of schools with only F1, only F2, only F3, and only F4.was 25, 30, 26 and 20 respectively.
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4. The number of schools with exactly three of the facilities was the same,'i_rrespective of which three were considered.
5. 313 schools had F2. W

6. 26 schools had only F2 and F3 (but neither F1 nor F4). . /]

7. Among the schools having F4, 24 had only F3, and 45 had onlgl'FQ: >4/

8. 162 schools had both F1 and F2. "

9. The number of schools having F1 was the same as the number of schools having F4.

Question 47

What was the total number of schools having exa‘c'tly"ihr"ee of the four facilities?

A 64
B 50
C 200

D 80

Answer: C

Explanation: [ ‘;

Let the number of schools with exactly trl']r’_é‘e;of the facilities was the same irrespective of which three were considered be x.
Number of schools witﬁ none of the facilities be 'n' from 1, n=80.

Number of schools \A'/:i:tl'f'l:lgnly\F1 and F2 be b’

Number of schools with or1-l'y\F'-1Tfé_r_1d F3 be'c'

Number of schéols with only F1 and F4 be 'd'

From the inflbrmation given.n the question we will get the following Venn diagram.

F1 F2
25 b 30
C X 26 26 ’
F3 ‘.
X 40 X 24
F4 )
d X 45 20

From 5, b+141+3x=313 => b+3x=172....(J)
From 8, b+x+40+x=162 => b+2x=122....(ii)
(ii)-(i) gives x=50 => b=22

From 9, 237+3x+c+d=279+3x=d => c=42
Total number of schools =600 => 313+25+c#xkd+26:+24420+80=600 7> d=20.

The final table looks like: Ny
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F1 F2=313

25 22 30
42 50 26 26

F3
50 40 50 24

F4
20 50 45 20

n=80

The total number-of sehools with exactly three of the four facilities= 4x=200.
Question 48

What was the number of schools having facilities F2 and F4?

A 185
B 95
C 45

D 85

Answer: A

Explanation:
Let the number of schools with exactly three of the facilities was the same irrespective of which three were considered be x.

Number of schools with none of the facilities be 'n' from 1, n=80.
Number of schools with only F1 and F2 be 'b’
Number of schools with only F1 and F3 be 'c’
Number of schools with only F1 and F4 be 'd'

From the information given in the question wewill get the\following Venn diagram.

F1 F2
25 b 30
c X 26 26
F3
X 40 X 24
F4
d X 45 20

From 5, b+14143x=313 => b+3x=172....(i)
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(ii)-(i) gives x=50 => b=2

From 9, 237+3x+ 9+3x=d => c=42

Total number of schools =600 => 313+25+c+x+d+26+24+20+80=600 => d=20.

The final table looks like:

F1 F2=313

25 22 30

42 50 26 26 O
F3

50 40 50 24

F4

20 50 45 20

n=80

R

The total number of schools having facilities F4 and F2=5 45+50+50+40=185.

How to p e cal Reasoning for CAT
Question 49

What was the number of schools having only.facilities F1 and F3?

Answer:42

Explanation:
Let the number of schools with exactly three of the facilities was the same irrespective of which three were considered be x.

Number of schools with none of.the facilities be 'n' from 1, n=80.

Number of schools with only F
Number of schools with only F1 and F

Number of schools with.only F1 and

From the information_given in the question we will get the following Venn diagram.

(J

//\/
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F1 F2

25 b 30
c X 26 26
F3
X 40 X 24
F4
d X 45 20

From 5, b+141+3x=313 => b+3x=172....(i) | \

From 8, b+x+40+x=162 => b+2x=122....(ii)

(ii)-(i) gives x=50 => b=22

From 9, 237+3x+c+d=279+3x=d'=> c=42

Total number of schools =600 => 313+"25+C+x.+d+26+24+20+80=600 =>d=20.

The final table looks like:

F1 F2=313

25 22 30
42 50 26 26

F3
50 40 50 24

F4
20 50 45 20

n=80

The total number of schools having only F1 and F3= c=42
Question 50

What was the number of schools having only facilities F1 and F4?
Answer:20

Explanation: .
Let the number of schools with exactly three of the facilities was the same irrespective of which three were considered be x.

Number of schools with none of the facilities be 'n' from 1, n=80.
Number of schools with only F1 and F2 be 'b’
Number of schools with only F1 and F3 be ¢’
Number of schools with only F1 and F4 be 'd'

From the information given in the question wewill get the'following Venn diagram.
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F1 F2

25 b 30
c X 26 26
F3
X 40 X 24
F4
d X 45 20

From 5, b+141+3x=313 => b+3x=172....(i)

From 8, b+x#40+x=162 => b+2x=122....(ii)

(ii)-(i) gives x=50-=> b=22

From 9, 237+3x+c+d=279+3x=d => c=42

Total number of schools =600 => 313+25+c+x+d+26+24+20+80=600 => d=20.

The final table looks like:

F1 F2=313

25 22 30
42 50 26 26

F3
50 40 50 24

F4
20 50 45 20

n=80

The total number of schools having only F1 and F4=20.

Data Interpretation for CAT Questions (download pdf)

Quant
Instructions
For the following questions answer them individually

Question 51

Two alcohol solutions, A and B, are mixed in the proportion 1:3 by volume. The volume of the mixture is then doubled by adding
solution A such that the resulting mixture has 72% alcohol. If solution A has 60% alcohol, then the percentage of alcohol in solution B is

A 90%
B 94%
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%
c92

D 89% \L?ﬁ

Answer:C -
ff”/

i
Explanation{ il
Initially let's pepsider A agA;B as one component

‘\\-___ P
The volume o?th{mjgﬁ%s doubled by adding A(60% alcohol) i.e they are mixed in 1:1 ratio and the resultant mixture has 72% alcohol.

Let the percentage of alcohol in component 1 be 'x'.

(72-60) 1
Using allegations, z-72 = 1 =>x=84

Percentage of alcohol in A = 60% => Let's percentage of alcohol in B = x% s

The resultant mixture has 84% alcohol. ratio = 1:3 /

, , (@-84) 1 o
Using allegations, 84-60 = 3

=>x=92%

Logical Reasoning for CAT Questions (download pdf)

Question 52 N S—

A batsman played n + 2 innings and got out on all occasions. His aégrage scorein these n + 2 innings was 29 runs and he scored 38
and 15 runs in the last two innings. The batsman scored less than Kri\@ns in each of the first n innings. In these n innings, his average
score was 30 runs and lowest score was x runs. The smallest possible value'of x is

{

D 1 \

Answer: C /?
‘g
Explanation: ’/ N
) sum of scores in n matches+38+15 \ /
Given, n+2 =2 \L//
. sum of scores in n matches
Given, n =30

=>30n + 53 =29(n+2) =>n=5 -~ 2y
Sum of the scores in 5 matché/= 29’{7‘-\3&\1\5\; 150

|

Since the batsmen scored less than 38, in elE of the first 5 innings. The value of x will be minimum when remaining four values are
N Vy

highest A ‘:7

.

=>37+37+37+37 + x = \@0

\\.
=x=2 \
Question 53 }_ﬂ}

./\‘.
Letmandn l;e'!,p’ositive integers, If 22 + mz + 2n = 0 and 22 4 2nx + m = 0 have real roots, then the smallest possible value of
m + nis

( ('\‘ fll'l:l;
A 7 &J/é’ !

A
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D 5

Answer: B

Explanation:

To have real roots the discriminant should be greater than or equal to 0. [ | /_> o
/ —

So,m?2—8n>0&4n2 —4m >0

=>m2>8n&n:>m \f-\

Since m,n are positive integers the value of m+n will be minimum when m=4 ané\pjz

. S
.. m+n=6. .
Question 54 =
O
A contractor agreed to construct a 6 km road in 200 days. He 'employed 140 persons for the work. After 60 days, he realized that only
1.5 km road has been completed. How many additional people would\I_i_é‘n' d to employ in order to finish the work exactly on time?

Answer:40

Explanation: Qh\\\:& 6:::::7

Let the desired efficiency of each worker '6x' per day. .
T~

‘7
140%6x*200= 6 km ...(i) -

e

In 60 days 60/200%6=1.8 km of work is to f/done but actually 1.5km is only done.
Actual efficiency 'y'= 1.5/1.8 *6x =5x.

Now, left over work = 4.5km which is to be \eip_’l-lk()//ays with 'n' workers whose efficiency is 'y'.

—

=> N*5x*140=4.5 .. (ii)

(i)/(ii) gives, ///::\\

(140-62-200) p L/ /”\
(n-52:140) —= 4.5 l/ }

=>n=180. \\‘”/

.. Extra 180-140 =40 w@ers are needed.
VAN
b

ative Aptitude for CAT Questions (download pdf)

N
Question 55 /
f

If z1 = —1jand z;m = zm#1 + (m + 1) for every positive integer m, then X100 equals
Uﬁ

A -5050
B -5151
C -5051
D -5150

Answer: A /

()
. \

Explanation:
x1p— -1 2 S—
ri=x2+2=>x2=21—2=-3 Q
Similarly, /\,\
r3=x1—5=—6

z4=—10 Q\
' A \¥
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The seriesis -1, -3,-6,-10, -15......

When the differences are in AP, then the nth

100(100+1)
T100 = — 2 = —5050

Question 56

5 1
If loga 30 = A, loga(3) = —B and log2 q/*> 3, then logs a equals

2
A 44B-3

2
B 4+B—3

A+B [ /\
C 2 —3 /\
D A+ZB—3 L/
e
Answer: A I/ 7

Explanation: \\\
loga 30 = Aor loga5+l\2\;kloga3:A ........... ©)

5 A
loga (3) = #Bor loga3 —loga5 = B........... )

and finally lé «2=3 il
Substituting\h@yzet loga5 +loga3=A—-3

Now we have two equations in two variables (1) and (2) . On solving we get

(A+B-3) 2
loga3= 2 orlogsa = A+B-3

Question 57

y
Dick is thrice as old as Tom and Harry is twice as old as Dick. If Dick's age is 1 year less than the average age of all three, then Harry's
age, in years, is
Answer:18 U

=z’
Explanation:
Let tom's age = x
=> Dick=3x

=

=>harry = 6x \j

Given,

V.
3x+1 = (x+3x+6x)/3 Q\
- \\)

Hence, Harry's age = 18 years
/
& mColleges
Question 58 \

Vimla starts for office every day at 9 am and reaches exacﬁe if she drives at her usual speed of 40 km/hr. She is late by 6
minutes if she drives at 35 km/hr. One day, covers two-thirds of her distance to office in one-thirds of her usual total time to reach
office, and then stops for 8 minutes. The ed, in km/hr, at which she should drive the remaining distance to reach office exactly on
timeis
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Answer: C

Explanation:
Let distance = d

. d
Given, 35 —

=>d =28k
The actual ti avel 28km = 28/40 = 7/10 hours = 42 min.
Given time taken to travel 58/3 km = 1/3 *42 = 14 min.

Then a break of 8 min.

To reach on time, he should cover remaining 28/3 km in 20 min => Speed =

Question 59

m n
Let m and n be natural numbers such thatnis evenand 0.2 < 20, m, equals

A 3
B 1
cC 2
D 4

Answer: B
Explanation:

n

0.2<11<0.5
=>2.2<n<5.5

Since n is an even natural number, the value
m
0.2 < 20 < 0.5 =>4<m<10. Possible values of m =

Since 0.2 < 77TLL < 0.5, the only possible value of mis 9
Hence m-2n =9-8 =1

Question 60

How many integers in the set {100, 101, 102, .., 999}-have at least one digit repeated?
Answer:252

Explanation:
Total number of numbers fro

The hundredth's plac e filled in 9 ways ( Number 0 cannot be selected)
Ten's place can be filled in 9
One's place c e filled in 8 ways

Total number/ of number7*9*8 =648

Downloaded from cracku.in


https://cracku.in

Number of int@g@r\dsw/e/set {100,101, 102, ..., 999} have at least one digit repeated = 900 - 648 = 252

Join MBA Telegram Group

Question 61

In the final examination, Bishnu scored 52% and Asha scored 64%. The marks
more than the marks obtained by Ramesh. The marks obtained by Geeta,

tained by Bishnu is 23 less, and that by Asha is 34

A 357
B 417
C 439

D 399

Answer: D

Explanation:
Let the total marks be 100x

Marks obtained by Bishnu = 52x

Marks obtained by Asha = 64x

Marks obtained by Ramesh = 52x+23 \
Marks obtained by Ramesh = 64x-34

=> 52x+23 = 64x-34

19
=>X= 4

Marks obtained by Geeta =84x = 84*19/4 =399

Question 62
11

If a,b,c are non-zero and 14% = 36° = 84¢, then 6b(c — o) is equal to

Answer:3 {

B

Explanation:
Let 14% = 36° = 84¢ ﬁ(

=>a=logia k,b=1 § k, c=logs4 k
11 1
6b(c — a) =6-2 logealc\p%,logkl4) =3

uestion 63
Q Vo

and principal together became Rs.18522. The amount, in rupees, that the person had invested is

F i
A person inZeCted a certain amount of money at 10% annual interest, compounded half-yearly. After one and a half years, the interest
|

S
Answer:16000

Explanation:
Given,

Rate of interest = 10%

Since it is compounded half-yearly, R=5%

n=3 =
R n
We know, A= P (1 + 100) Q
=t

18522 = P (1 + 0.05)°
=> P = 16000
_//\\ A
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Question 64

~

A man buys 35 kg of sugar and sets a marked price in order to make a 20% profit. He sells 5 kg at this price, and 15 kg at a 10%
discount. Accidentally, 3 kg of sugar is wasted. He sells the Wg sugar by raising the marked price by p percent so as to make an
T~

overall profit of 15%. Then p is nearest to i
y
A 22
Q F——'__Fﬂ_ﬂ:?
B 35 3 i —
\“\&
C 25 ~
D 31 p
(
Answer: C \ /
D
Explanation: =

Let the cost price of 1kg of sugar = Rs 100
The total cost price of 35 kg = /—\\\\
Y

Marked up price per kg = Rs 1@6 //
Glven, the final profit is 15% => Finak\w kg =3500 *1.15 = Rs 4025

First 5 kg's are sold at ?_’(IJ% marked up‘) price => SP1 = 5-100 - 1.2 =Rs 600

Next 15 kgs are sold "f‘%é\giving 10% discount=> SP>» = 15-100-1.2-0.9 = 1620
3kgs of sugar got wa&

=> 23 kg of SLJJfgﬁr was sold at Rs (600 +1620) = Rs 2220

Remaining 1(2[1{9 should be sold at Rs 4025 - 2220 = Rs1805

/]
=> SP of 1kg,=.1805/12 ~ 150
(150—120)
Hence, the seller should further mark up by 120  -100 = 25%

Question 65

The points (2,1) and (-3,-4) are opposite vertices of a parallelogram.If the other two vertices lie on the line = + 9y + ¢ = 0, then c is

A 12

B 13 (@
c 15 /> -
KO

Explanation:
The midpoints of two diagonals of a parallelogram are the same Q\

Hence the midpoint of (2,1) and (-3,-4) lieon x + 9y +c¢c =10
2-3 1-4 &
midpoint of (2,1)and (-3,4)=( 2 , 2 )=(1/2,-3/2) \\

Keeping this cordinates in the above line equation, we getc = 14

;
Question 66 &

A and B are two railway stations 90 km apa&% :00 am, heading towards B at a speed of 40 km/hr. Another train
leaves B at 10:30 am, heading towards A at a spN/hr. The trains meet each other at
-
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A 11:45am
B 11:20am

C 11:00am

D 10:45am =
Answer: C /Zj
Explanation:
The distance travelled 5}7A between 9:00 Am and 10:30 Am is 3/2*40 =60 km.
Now they are separa%‘ikm
N
Let the time taken to meet =
)

Distance trav?,H:e\d by A in time t + Distance travelled by B in time t = 30
40t + 20t =3|6§> t=1/2 hour

Hence they meet at 11 :0%
\‘\-\.____/

Question 67

Cracku CAT Success Stories

Let N, x and y be positive integers suchthat N =z + ¢,2 < x < 10and 14 < y/ 23.1If N > 25, then how many distinct values are
possible for N?

Answer:6

Explanation:
Possible values of x = 3,4,5,6,7,8,9

When x = 3, there is no possible value of y

When x = 4, the possible values of y = 22

When x = 5, the possible values of y=21,22

When x = 6, the possible values of y = 20.21,22

When x = 7, the possible values of y = 19,20,21,22
When x = 8, the possible values of y=18,19,20,21,22
When x = 9, the possible values of y=17,18,19,20,21,22

£
The unique values of N = 26,27,28,29,30,31

Question 68 \\

Let k be a constant. The equations kx + y = 3 and S = 4 have a unique solution if and only if

>

| k|4 2

| k|=2
k#£2

(9}

o

k=2

Answer: A {

Explanation:

a b
Two linear equations a?ﬂ?by= c and dx+ ey = f have a unique solution if d £ e

k 1 |
Therefore, 4 £ & =%\< 4
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Question 69

r.

5 O

P
How many of
| I

B 41

C 40

D 43 /

e integers 1, 2, ..., 120, are divisible by none of 2, 5 and 7?

Answer: B

y

y
Explanation: /
The number of multiples of 2 between 1 and 120 = 60 :
The number of multiples of 5 between 1 and 120 which are not multiples { 1,2"‘_1.
L)
e

The number of multiples of 7 between 1 and 120 which are not multi

Hence, number of the integers 1, 2, ..., 120, are divisible by none of 2, 5and 7 =+

7

Subscribe to MBA E)%éﬁﬁis\@utube Channel

Question 70 4?\ }hJ
How many pairs(a, b) of positive integers are there such that a\§:7): = 420179

p
A 2018 \
Q:;\\\i-f?

B 2019 S\
N \y
~ \_\\
c 2017 ~
D
D 2020 }’/
Answer: A \ []
\ 4
Explanation: ==

ab — 42017 _ 94034

.
The total number of factors = ?-9:3? 7,!:::"\
out of these 4035 factors, we[gfan cl?/q/ose t\\)j umbers a,b such that a<b in [4035/2] = 2017.
And since the given number is a perlf\éﬁetqu re we have one set of two equal factors.
.. many pairs(a, b) of pﬁ@tive integers\are there such that @ < band ab = 42017 = 2018.

WA
Question 71 R
i

Anil, Sunil, and Ravi run alo \Et'qcular path of length 3 km, starting from the same point at the same time, and going in the clockwise
direction. If they run at speeds o 15 km/hr, 10 km/hr, and 8 km/hr, respectively, how much distance in km will Ravi have run when Anil

and Sunil meé:t‘,égain for the first time at the starting point?
/

(( n
A 48 &//A

B 46

Answer: A
—")
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Explanation:

(J

= 459, 1f DC = 5cm, BC = 4 cm,the area of

3 3
Anil and Sunil will meet at a first point after LCM ( 15, 10) =3/5 hr
In the mean time, distance travelled by ravi =8 * 3/5 = 4.8 km

Question 72

In a trapezium ABC D, AB is parallel to DC, BC is perpendicular to
the trapezium in sq cm is

Answer:28

Explanation:

D

C @
Given,BC=DE=4

CD=BE=5
In triangle ADE, EAD=45%{0}$$
DE
tan 45 = AE=>AE=4
Area of trapezium = Area of rectangle BCDE + Area of triangle AED

=20+8=28

in CAT 2022 Online Coaching

Question 73

The area, in sq. unit osed by the lines * = 2,y =| © — 2 | +4, the X-axis and the Y-axis is equal to

D 12

Answer: A

Explanation:

=

()
- Aol )

The required figure is a trapezium with vertices A(0,0), B(2,0), C(2,4) and D(0,

AB=2BC=4and AD =6
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Question 74

If f(z +y) = f(x)f(y) and f(5) =4, thm\lﬂ)

A 14.0625
B 0
C 15,9375
D 3

Answer: C {

Explanation:
The given function is equwalent to f(x).=

Area of trapezium = > (sum of the opposite sides) x eight = 2 (44+6)-2 =10

is equal to

Given, f(5

=>a’=4=>a Q\
=>f(x) =
f(10) - f10)¢’ 6-1/16 = 15.9375

Question 7

(log24) (10g4 M

Answer:24

Explanation:
(2-4-8-16)

(log222)% (10g22 23)3- (10g23 24)4 .

210
S () = 24

(J

tions)

Take 3 Free CAT Mo

Question 76

The vertices of a triangle are (0,0), (4,0) and (3,9). The area of the circle passing through these three points is

147
A 3
1237
B 7
127
C 5
£
2057
D 9 <:::\\\\\j§x
Answer: D
Explanation:

Equation of circle 2% + y? + 2gz + 2fy
It passes through (0,0), (4,0) and (3,9). Substitute each pgint in the above equation:

=> On substituting the value (0,0) in the above ieje:obtain: c=0

=> On substituting the value (4,0) in the above equation, we obtain: 16 +0+8g+0=0;g = —2

=> On substituting the value (B/Q;I,i{n%vﬁ}b\ove equation, we obtain: 9+ 81 — 12+ 18f =0; f = —13/3

o
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=1 o U5 205
g H 2= # %

2050 A\ /)

Radius of the circle r =

Therefore, Area = 712 =
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